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ffird B-flt tqrTfl s-d-d qqir 4rdfrf+6 qrqr. grfr sdt qTfi'

165sffi srk:
l ETqr gn-sr +-( (fu+' eTriq e s{ oqr+ ermwrq"i gqe tddt. l qrr #t

qrs 16' qlqqld) T4(:qr qrqr 6qrm fuElqrH il e+fl 3T$qrS crfi 6Fr qt
offi r+T* ft-< rrtqn rrd qr* <erdr qr. 9wgkfir q:tm{qfidfit qr ei-e qtsrtrd

ensr m'qr6 q +-{ qffim qrfi-d v-+6 e-+' snFr yIq$gt drq qrrfr tr6r.

s(l-6{u[d:

z. v-so vc-{rdr cE 1gr 3ilt

3. q{ ltq +sfrti s{rqvqq, sl*fr <W s-CIt fefroqlTfi q,i y[{cfi-d,r qFa irq:FFL

4. Get ssnqrg g€-cri 6rt s{frr garcrrF q6 rv< ffid ffi cI< +sct
5. qqRlr yrrri rtrr ta rta rr Fttirt qrk] ta vra-q r*r. g6n cl-l ffs"qrq

qr. v4 yl-l vte-6 Vem sc+f,I +6rd rrqr i-+et qrltq{ C<rdr g<r fran *"rer

+td.

5. vl-l fu gqrdl fuaqrr +a fr-flr" tfi Erqr qrwtd qrg qtM iqdrr
clr q,ai 6Ic r*6 ger< f<tan dffir-e fir{qri orrt

7. aslrd +sr gErdr s-dt +qM "qtF66 FTdr qrqufr" (Mentat Ability Test)
qrs Tm{crT6r Ftaltll 3tr€ qFIT t'rrl iF{.

8, v*o cv<rq rcast-A yc.{SfiR-+qd cctq R qri". FtH gqm drq qr}o er
qqiqm r''qr*' T6r ur E[ 6qr*-rqr e-daa gErdr f{+fl i-<rcr qrc{ 6,.sc i qfa
tqlf*d (q,IJ) irs;l BiT{ sL qa t r6Fr grrq B-drqfd+ qt-q{ ffif,l OMR Sheet

q( qliq ylqlgt 6{r{qri q* wrSRin}sr rA.

9. FcqI qr gfiil*-d +{ St-did srrfu qrFr E,qi4, s 6a 6rc qrdi-q erq 6r*d
fuqr+r
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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the tests:

l. Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writiug your Seat No. get it ascertained fiom the Centre Conductor Please see

that no block is left unfilled and even zeros appearing in the Centre Code and Seat No.
are correctly transferred to the appropriate blocks on the booklet and on the answer-

sheet.

Example

SEAT NO. 3IRN A;TIFF

For all subsequent purposes your Centre Code and Seat No. shall remain the

same. Centre once allotted will not be changed.

2. All questions carry one mark each.

3. Since dl_grc$i0N jfgCoODtrbOE do not try to read through the whole question paper

before beginning to answer it.

4. Begin with the firs question and keep on Eying one question after another till you finish.

5. Ifyou do not know the answfl to any question, do not spend much time on it and pass

on to the next one. Time permitting you can come back to the qu€stions which you

have left in the first instance and try them again.

6. Since the time allotted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

7. Rernember you have to mark on your answers in 'rMental Ability Test" Section ofthe
answer-sheet only.

E. Answer to each question is to be indicated in the answer-she€t by endircling with black
pen in the appropriate number of alternative in the answer-sheet fiom amongst the ones

given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code Saat No. and rough work anywhere in this

booklet.

10. Now tum to the next page and start answering the questions.
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qrqsfr

rFr 1-2 : q.m- sfu rfu rfrrd, svlF{€rqT qFfr Fcr+ ffi q<

+id t fn6r.

r. BJ, DL, PX, ?

I[\(,E\
(1

(3) TB Jr\
), { " 

i,r,^.
2. AYCD,EUGH, IQKL.?

(*(
ly

(2) Fx

(4) vD

(2) BXDE

(4) MZBC

(2) l0l

(4) 131

(2\ zret

(4) 3le

Q4

(l) AYCD

(3) MNAB

qvrl 3-5 : qa-rr-ft{ro q{ o+dqr

3. t4t

(3) 107

4. (l) 6l3l

(3) 3312

(l)

t
T: tq?

L

4t b+
AO,t

uvLrreF.AntJKL
5l f( it , 'b?, 11 (l)
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Q. land2:

1. BJ, DL, HB PX, ?

)FN

(3) rB

2. AYCD,

MENTALABILITYTEST

Directions- In each ofthe following questions write which

term in sequence replaces the question mark?

?,

(2) Fx

,(4) VD

(2) BXDE

ri( r" t^

AB (4)MZBC

Q. 3 and 5 : Directions- Find the odd term

3. (l) 14t-. (2) l0l -

(3) 107 . (4) l3l -(

4. (l) 6l3l (2) 2te1

(3) 3312 r (4) 3l
ty

x Mt5NTS-MS-MAT.SL 5 of48
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s. (l) DHLP (2) FNUB

(3) BDFH (4) KVGR

6. y61-d rwid ffisI g+ frFrq rra f<er eile. qr T dYfr g-d'n0 +.-q tet {ilqt

341,572,781

(1) 634 (2) 8el

(3) eoe (4) e90

7. c6I qfrrfr qr+d q{ + qvld +,- qq-Q x,+ Eurd + s x qq-Q - qmad qrc

er*a m.

(200+ 5)+ 25:(20 5) x lO=r

(1) 125 (2) 100

(3) 155 (4) 40

l

.11i.*z\ (q/t

. ? aAS T U V rJr YZ
rf r l? ra iJ ,. lr 2a ar t\tf ta

A g ( o €E (nHt J1 \ r( ? t, 'c

ql rr '(DIlP FNuB. IIDFH kVCre
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s. (l) DHLP (2

6. In the following question a specific group ofnumbers is given. From the given

altematives, find out the right number which matches the given group.

341,572,781

(3) BDFH (4) KVGR

3o

(1) 634 (2) 891

(3) eoe (4) 990

7. In a mathematical language if + means +, - means x, -:- means + and x means

- are used then,

(200 + 5) - 25 + (20 - 5) x l0 : ?

(l) 12s (2) 100

(3) l s5 (4) 40

(zw+r)+ls+(roxs)-roz

(ao)+ 2r+(roo)-lo
,z(
\o,

Qq+ 2r t (,"d - ''., '

5t -so

NTS.MS.MAT-SL x Ml5 7 of48

SPACE FOR ROUGH WORK

Booir' s



c*I s-e : I[Er;lr- qrd]d ulnrd cFEr o{rfu Erqr 3rr+.fr qA ftRrE

{dE sTrt. T{Irq {EiE fdrqr sffir c[rff,drqr qFfr tqrqr

srrg"'fr cA oG. Rsr vulat rq{ +rq qqfq ft{sr.

8.

(2)

(3)

(4)

*

*

*,

f
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Q.8 and 9 :

8.

(l)

(2)

(3)

(4)

Directions- In each of the following questions there is a
specific relationship between the first and second figure. The

same relationship exists between the third and the fourth figure

which will replace the question mark. Select the correct term
from the given alternatives.

*

*

*

I

Mt5xNTS.MSMAI.SL

w

X
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q
9

(1)

)(2

(3

4

)

)(

o

e
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q9.

(1)

)(2

3)(

14)
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r0. qtr,r *l4fl*d-d s6I f{s6 q}zi crauqr sr& qtetd sqrq qsd gntd. K q&r S

qtql qti A orrt M qfir q-*dr qrt. N s{rfu 5 qtf +iufl-d qrfi, m l Aqfft+t}

qsffi ort

(l) K snFrM qrqr qttqq

(2) N qAqiqr qtiqq

(3) SsKqrq q+tqq

(4) M enfuA qiq qdqq

ll. crr fiil€rA qrt 6ffi €@r +id t *q q+qrF tresr.

305 J

I84

(l) 132

(3) 274

(2) 262

NTS.MS.MAT-SL x Mt5 @
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10. Six teachers ofa workshop have sat down for a photo session as shown below. A
is sitting in between K and S. M is at a comer. There is no one sitting in between

N and S. Then where is the person 'J' sitting?

(l) At the central position between K and M

(2) At the central position between N and A

(3) At the central position between S and K.

(4) At the central position between M and A.

I I . Find out the correct number from the given altematives to replace the question

mark.

I 305

84,

(l) 132

(3) 274

t2) 262

tL

JNS K t

NTS-M9MAI.SL x M15 l3 of48
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12. +{r-qt eilT.-d-dl sc-S g.r rFI iFIR *-ar m 5d-e H ffi q{rSl'--fr +'c sni. t
vil*n

(l) (2)

(3) (4)

13. qr qEr qrSfufi qrin LEAL= ll 3rd ff,Fd m arq qr*Ftro qr+{ BEAT = ?

(1) 7 (2) t3

(3) l4 (4) re

NTS-MS-MAT-SL x 14 of48
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12. Ifthe figure given along side is folded to construct a cube, find out the correct
cubical figure from the given altemative figures.

(l) (2)

(3) (4)

13. In a certain code [anguageZEAl: I l, written then in that languag. PPII = ?

tt) 7 (2) l3

(3) 14, (4) te

G]

2*t

l5 of48NTS-NIS-MAT-SL x Ml5
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14. (4'r +ffnr J, K, L, M,N, o, B Q, Rt qs'r *&d ffi trs q6rd qsd snid' L

Er M qr smffi e{rfu N crgl =-sffi fdsql rrni s'sd-dr slTt KEr gffiql

ffi fd-{r 3rRrfi qsd-dt elrd. Qa oe P qr qd qsddl snd. o a K qI 3r#
ffrsqr rprrfi qq-&dr qTt J qt rsfis-g di-q o qsff ort ar wsil qQ 6|q <vet

3Tt?

(l) L (2) o

(3) r (4) Q

15. +{d Rd qrffi sqq ffIqE{d ffii 90' em[cgr frcdd m frd srnvn q*i

fraqrt vffir fl'&er qqt{ tqr f€st

(l)

(3)

(2)

(4)

jt

NTS-MS-MAT-SL x l6 of48
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14. On a playground J, K, L, M, N, O, P, Q, R are sitting in one row to watch a

cricket match. L is at the right side ofM and is occupying third place from N at

the right side. K is sitting either at first or last position. Q is in between 0 and

P. O is sitting at the third position at the left side ofK. O is Sitting next to ,J' at

the right side. Who is sitting at the centre among them?

(l) L (2) o

(3) J (4) Q

15. The following figure is rotated in anticlockwise direction and its mirror image

is obtained. Select the correct mirror image from four altematives given.

-i.rt

(3)

(2)

(4)

n

{o3|P-1}! .!
{6t

t4L--N.
J O AP

$ l<

NTS-MS-MAT.SL x Mt5 l7 of48
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vFr 16-17.Fr;[- EXPANDF Vrq qr( +rr+rr6'n ff&'t!r-* arr+fr

fd{Ef,I ont. fr st*fu*' qlsr 3+aqr q 5#d Yr<rd Rdr

vrq rr qtursr {t*Fr*, cn+a fliri.Er .,6. I 4ro retar

eqr fre-o.

EXPAND:

(l) FYQBOE (2) EYRDRI

(3) EPNXAD (4) DSIOZ r'lC

16. (1) SOLVE:SPNYI

17. (2) LARGE = KZQFD

uFr 18-1e.qmr- fttm 3Trffr vhn

18. (l)

(3)

e}(2)

(4)

NTS-M$MAT-SL E@ l8 of48

isiat qfir



Q. l6 and l7 : Directions- In a certain code language the word EXpAND has

been written in four different code languages. Understanding

in each of the following questions,

EXPAND:

(l) FYQBoE (2) EYRDRI

(3) EPNXAD (4) DWOZMC

16. (l) solvE=SPNYI

17. (2) LARGE=KZQFD

Q. l8 and 19 : Directions- Find the odd figure out

18. (l) (2)

(3) J4)

€es

the code, find out the correct code language for the word given

[TTSfiE-MAr-sL lxfMrsl f 
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le. (l) (2) (3)

20. d-fi Rflr orrffi-A frfrqTur 5{-{ er qrd ffier s{-{ri Tdt sr?

<qfa5< qqcq #{ ffi?
(1) l6

(2) l0

(3) 8

(4) 14

lrFr 21-22rqmr- urd ftd@T Tffi f{ftSTur qTr. r*d, vrtra

ur<fq<rq qFfr +rq qqlq f€sr.

8

93635

l0 37 56 55 34

ll 38 57 68 67 54 33

12 39 58 69 70 71 66 53 32

13 40 59 60 61 62 63 64 65 52 31

t4 41 42 43 44 45 46 47 48 49 s0 51 30

t5 t6 17 18 19 20 2t 22 23 24 25 26 27 28 29

NTS-MS.MAT-SL x Ml5 20 of48
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(2) (3) (4)

20. Observe the adjoining figure and answer the following question. Choosing the
correct altemative.

How many isosceles trapezium are in the figure?

w
9VI

(l) l6

J2) l0

.(3) 8

(4) 14

Q. 2l and 22 : Directions- Observe the following pyramid of numerals

and decide which rlternative will be in place of question

mark in each of the following question.

E

93635
l0 37 56 55 34

l1 38 57 68 67 54 33

12 39 58 69 70 7t 66 53 32

13 40 59 60 61 62 63 64 6s s2 3l

t4 41 42 43 M 45 46 47 48 49 50 sl 30

t5 16 t7 l8 19 20 21 22 23 24 25 26 27 28 29

NTS.MS.MAT.SI, x Ml5

hA,
le. (l) v-YIV\

\AIl-^

./

/N

SPACE FOR ROUGH WORK
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21. 95761 : 10584 ,:7:146648

(1) 377149

(3) 356763

22. 95670 :70579 :: 356766 : ?

(r) 66343s

(3) 634623

(2) 353331

(4) 363840

(2) 677063

(4) s87061

rFr 23-24: {fi- slrs-ftd EVffi ccrd 66Fr-i[6rr *fi6qr* T{rr f{d
3rrt iqH firfrqur mrc 5.+€ cvlr* s-dt fr6r.

NTS.MS-MAT-SL x Ml5 w
-
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21. e5161 : 105844:: ?:346648

(t) 37714e

(j) 3s6763

22. 95670 : 70579 ::356766 :'l
(r) 66343s

{3) 634623

- (2) 3s3331

(4) 363840

(2) 677063

(4) 587061

Q.23 and 24: Directions- In the following ffgure the arrangement of
small blocks is given observe it and answer the following
question.

NTS.MS-MAT-SI, x Mr5 23 of48
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23. F{6r{ (6r{ d6coqr$ q{q {@I ffi?
(1) l7

(3) 27

24. qr Mi d-+q Vsqn f{€-{rd sr$ # ffi sntd?

(r) ll (2) t3

(3) 15 (4) 17

yFr 25-26 : Ufir- EAa uY{rd *{t{r{ ffi@r Ser q{,r ftfrrE f{qciuqR

elrtd. A ftqq olqrqr q rrrFd€rqr qFfr +rq qstq tr6t

25. l3 61 2

? 5 29

10 122 26

(2) s8

(4) ro2

26.
-:7 I 28

4 t7 8

? 56

(l) 4e

(3) 71

(l) -1
(3) 41

(2) t2
(4) 63

NTS-MS-M{r-SL x Ml5 24 of 48
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23. What is the total number of small blocks?

(r) 17 (2)24

(3) 27 (4) 30

24. Find the total number ofblocks whose two surfaces are seen.

(1) ll (2)13

(3) ls (4) 17

,

Q.25 and 26 :

,<

26.

l3 6l 2

, 5 29

1.0 122 26

(l) 4e

(3) 7l

-7 I 28

4 t7 8

? 56 73

(2) sE

J4) 1o2

-(2\ 12

(4) 63

Directions- In the following square numbers are written
with a specific rule. Find the rule and decide which
alternative will be in place of question mark.

(l) I

(3) 4l

t
(6

-'8
(^ 7

oY \j
r

42a,y

NTSMS-MAT-SL x Ml5 25 of48
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27. q6'r drsrf-fr s'FKrqI if6-sqrdl E6ql qrqr n fqRI€ ffi 6I[d-dI efflfrd <Iq{f,I

slft 6,rq-€rr-fi €I 6FrE 3tFrs m osr Re d d'q qqtc Yhn. '

I

(l)

2E. 2,6,21,88, ?

(l) 440

(3) 44s

29. 6,30, 18, 128,?

(l) 36

(3) e8

(2)

(4)

oo

(3)
oo

wir 28-29 : g{{r- ur*a r*{. vftn, lfu qFfr EqIi durdr qqtq

iid i fn6r.

,no

(2) 3s6

(4) 3s2

(2) 38

(4) e0

I

oo
Oo

NTS-MS.MAT.SL x Ml5 26 of 48
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27. A square piece ofpaper is folded and cut at specific spots as shown in the figure.
The paper when unfolded will look like as shown in area ofthe alternatives.
Select the correct altemative.

(2)

oo
(3) (4) o

oo

oo

Q. 28 and 29 : Directions- In each of the following questions, write which
term in sequence replaces the question mark

,r +lf
2E. 2.5, ? l, 88. ?

(l) 440 (2) 3s6
(3) 44s (4)3s2

29. 6.\30.ub.,128- ?a .::-'
(l) 36 (2) 38

(3) e8 -{4) e0

o
o

oo
oo
Oo

9Lt32t

Ll

t\

1T' I 4

LI

iacrF

.!a
8t'
LI

NTS.MS-MAT-SL x NI15
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sFI 30-31 rUEm- gl* +t il* f{a qfr lqrd orsr{A +{ rr. f{A
sTrln rfir I q*a # Bnfrr rfiIi qm o t I rqm f<&
oTrtd. snfrr rmt II q*e sffi offiI rq,r+ qnr s t s *qrq.
ffi sntd, qr rwrfra orqrt qsrc sret *a mqfq' e =iil{
Erqr ri6m g;cffi {.dqdr qrfr Eir. 56122, +r qr rid}
qqIslEII qril.

N-ftI I ffr II

36. qiqil ffir rrz MOST qr qr.{i ffififird 6.cd?

(t) 40,44,22,89 (2)33,20,11,79

(3) 21,00,03,88 (4)o2,r3,34,s6

31. 6iqiq rffir rra ROAD qr rqri yffifire ord?

(r) 42,32,79,s8 Q)23,32,98,99

(3) 1t,t3,67,69 (4) M,20,5s,78

0 1 2 3 4

0 F o M s R

I S R F o M

2 o M S R F

3 R F o M S

4 M R F o

5 6 7 8 9

5 T D I P

6 I P A T D

7 T D I P A

8 P A T I

I D I P T

NTSMSMAT-SL x Ml5 28 of48
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Q. 30 and 3l : Directions- Tlvo cherts ere given bel,ow :

Containing two groups ofletters. In chart one the rows and columns are labelled

with 0 to 4 number. In chart two rows and columns are labelled with the numbers

5 to 9. tlie letter in the chart is identified firstly by its row number and then by
its column number. For example 5 is denoted by 22, 41 number.

Chart I Chart II

30. Which group of words represent the word MOST?

(r) 40,44,22,89 (2) 33,20, n,79

(3) 21,00,03,88 (4)02,t3,34,s6

31. Which group of words represent the word ROAD?

(t) 42,32,7e,s8 (2\23,32,e8,ee

(3) ll, 13,67,69 (4) 04,20,ss,78

0 I z 3 4

0 F o M S R

I S R F o M

2 o M S R F

3 R F o M S

4 M S R F o

6 7 8 9

5 A T D I P

6 I P A T

7 T D I A

8 P A T D I

9 D I P A T

x Mr5NTS-MS.MAT.SI, wt

SPACE FOR ROUGH WORK
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32. rI {+c fdrtcrqldl lt #drr cqr 2E S€tfl 2012 q{n md {,€ tfr. frsEfr

g{A g6 dvlrqfi r0 srR{s +r<R +dr. g{fi{d{ vrrdr gs flelqrqr z qr ffi
vrfu sro qrqn tfi il{ Frdtsr qR 6}q-dl qC-d?

(r) fq-qR (2) {FdR

(3) trsR (4) qrrtrqR

uFr 33-34.g+tr- ur*e r#.[, vrtrr, uf{ e{rsar qi5,r t{ftrq 6cr+

ERaariT drq 6cA qffiqr qFfr R€r qffi ffi
elr$fr +fd t 6rqr.

33.

(l) (2\

(3) (4)

IIIIIIIII
IIIIIIIIIIII

?IIIITI
IIIIIIIIIIII

IIIII
IIIIIr

I

IIIII I
III

-III

NT$MS-MAT-SL x Ml5 30 of48

IE.AI Effi

tr ttl



Q.33 and 34 : Directions- In each ofthe following, the question figures
change in a particular order. Decide which figure from the
given alternatives will replace the question mark.

33.

(l)

(3)

(2\

(4)

I

I
IrI IIIIII

II

x Ml5NTS.MS-MAT.SL 3l of48

32. A school boy was having Deepavali vacation from I I October to 28 Ocrober
2012. It was Monday on the lOth Day before the start ofthe vacation. After the
vacation, the school excursion was arranged on the 7th day from the reopening
ofthe school. On which Day was the school excursion arranged.

(l) Sunday (2) Friday

(3) Thursday (4) Tuesday

SPACE FOR ROUGH WORK

Fffi
t--

?

ffi
ffi +



34.

(3)

rFr 35-36: qfir- ql*d uPrtil qFer rr<rqr <rqt qEIvft qsr {iiE 3TIt.

iTsrq tdq ftrsqr c qlqT v{IqA s{rt Er {iiE f{qr{rd tq-{

cgcF{drqr qFft *urdr qqtq tid t Ytsr.

35. AMK: SPJ:: KNM: ?

ITIilIIIIIII
.,,1ITI

Itil

2
a

(2

4(

)

)

lil

IIT

(l) cQN

(3) cQL

36. N9M: PllQ:: Vl4T: ?

(t) xtTz

(3) xlsY

(2) BQL

(4) BLQ

(2) x16w

(4) xl6x

\

NTS-MS-MAT-SL x Mt5 32 of48
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iliiIIlTlIi ?
a

-llll
,IIiT

Q.35 and 36 : Directions- In each of the following questions there is

a specific relationship between the first and second term.
The same relationship exists between third and fourth
term. Understanding this relationship, Find out the correct
alternative to replace the question mark.

.,,IIII

.,lllT

35. AMK: SPJ:: KNM: ?

(l) cQN

(3) cQL

36. NgM : Pl lQ :: V14T : ?

(t) xtTz
(3) XrsY

(2) BQL

(4) BLQ

(2) xl6w
(4) xl6x

NTS.MS.MAT-SL x Ml5 33 of48

34.

SPACE FOR ROUGH WORK



37. frqr Sfir Eorq6 qftqi63 q ffi. yqrq o.1 a61 sq{H qEl 7 t+'fr. l-crs 6{i
-61 sffi q€ e ffi e-qrs 6{A 3rFr rfi fdws qrt Tdfr q lr fd'fr. e-srs 6ri
ft Bq# qai 3rrfu z ffi. rqrs q.G m * aa faflqnrq{ ffi sr-d{rEt eni?

({hr n++' *}e q.E+tfi {dil
(l) effi. (2) 6ffi.
(3) 3 f6.fr. (4) 7 ffi.

st. sffi+ ffifi qM Rd qri. er qffitfl-o rrd-&d 3[+' ars mqri qfir rrqicrd

ffid sntd d erqfi cqiq yiqr

vFT 3e-40;q;m- ct{E q ltfuE d*1 c <nahff, +ddrd. t{d q qrqq

en# c tsefd +ardril. rtvr erilkq ffi-a e <iatqfia *aan
t{t, {tvr q orfi t Eafd q ffi'd +ffird.

39. Ei+1, ffiz s trid-qfd ? ffid'+d 6i'r M?

0-0100 l0- llll --
(1) 0l0ll
(3) 0llll

(l) qllrq

(3) t{,i

(2) 01101

(4) 011l0

(2) ffd(

(4) e-rn

NTS-MS.1IIAT-SL x M15
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37. Seema went 9 km to west. She tumed to right and went 7 km. She hrmed to left
and went 8 km. From there she tumed back and went I I km. Then she tumed
to right are went 7 km.

How much distance is she from origin?

(Seema tums every time in 90'angle)

(l) 9 km (2) 6 km

(3) 3 km (4) 7 km

NTS-MS.MAT.SL x Mt5 35 of48

38. A rhythmic arrangement ofnumbers given. The missing numbers appear in the

same order in one ofthe alternative answer. Find the correct alternative.

0-0100- 10- 1l1l --
(l) 01011 (2) 0lr0l

(3) 0llll (4) 0lll0

Q.39 and 40 : Directions- Madhav and Govind play Hockey and
Volleyball Hemrnt rnd Mrdhrv play llockey and Baseball.

Ramesh and Govind play Cricket and Volleyball. Hemant,
Ramesh rnd Anant plry Football and Brseball. Then,
answer the following questions.

39. Who plays Hockey, Cricket and Volleyball?

(l) Madhav (2) Govind

(3) Hemant (4) Anant

SPACE FOR ROUGH WORK



6iur ffidqd dad ild?

(l) rttd< (2) trd

(3) mtrs (4) {i{l

YFI 41-42: Wr{r- \Im.r qrrqt *t fira ftTifr fud-qr 3{rf-*{ Evmq-€r

onta ftri ftfrsrur q,6-{ qrtrd uwi* E{t ftr6r.

41. X f{€rq ks-a yeqrn< qiurt f{€ 3r+d?

(l) o (2) O

(3) A (4) >---;

42. at fE<,rqr fqs-g ysqFrr{{ 6M f{€ sr+d?

(1) O (2) a
(3) >----+ (4) x

>..,

o

NTS-MS-MAT.SL x Mt5

?E.ar anqnrr$ q-m
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40. Who does not play Baseball? Choose the correct altemative

(l) Govind (2) Hemant

(3) Madhav (4) Ramesh

Q.4l and 42 : Directions - In the following figures, three different
position ofa cube has been shown. Observe the figures and
answer the questions that foltow.

41. Which sign will be on

(r) o
1 (4) >-->

42. Which sign will the surface opposite to surface having /rsign

1.

(l)

(3) >-+ ,

(2)a

(4) x

x Nlt5NTS.IITS-MAT-SL 37 of48

(3) A

on

opposite to surface having X sign?

-(2) a

SPACE FOR ROUGH WORK



43. tr&qt cr<ri+, ,M qrrmdr srr:F-d-d qrqti-€rqcrq C-q, t-d{ qd qrftqre

ffi sn-f-fi tt*d t qqtqt(l YilqL

rvir /r-4s.qqrr- cFsr lidar gr<r Tiff vsr lidq 3lrt, d{rq {.iq
ffqql d'*EI *qr ffi eilt m vv+qtrqr qFft ffi
frqr Rffi vetamp vtmr

44. 583: ?::488 :378

93(l) 2el A

I

Pa
? o

7--
I

(l) )

L

2(

(4

l--.
I

I

(l) !'l
I

I

I
I
I

)l
I
I
L

t.
\(3) 487 1v ,.1 ,

.4v\ (4 s8l

9in
9 r*-l

+

il

/

a
f, '. ro:\(

NTS.MSMAT.SL x Ml5 @
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43. In the figure given below, a transparent square shaped paper is folded along the
dotted lines. What figure will be obtained ? Find the figure from the altemative
figures given.

(t)

(3)

)(2

r---
I

L-__.

L__
t-- -
I

t--

Q. 44 and 45 : Directions- In each of the following questions there is a
specific relationship between the first and second number.
The same relationship exists between the third and fourth
number which will replace the question mark. Select the
correct term from the alternatives given.

44. 583: ?::488 : 378

(l) 291

(3) 487 (4) s8l

I

iDa
o?

'./
t)

c\9

.,\

^(
\

(

b'(t'
x Ml5NTS.MS-MAT-SL
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45. 13 : 19 :: 3l : ?

(l) 4l

(3) 33

(2) 37

(4) 47

49 (76)2t6 36 (?) st2

(2) se

(4) 48

(2)

(4)

46. €rd-{ c{-{ril e-+6' nriqrn ffios {€qrql 6qrd-€ G{fr fqRE s,itr 3ni d
*aer q vst{<tqr qFfr drc qqh fffsl

47. c6r drRTT-fr o.Frqr qsqr qra-en{ fffqnqr qdd vrr ar7-fi <r*r atqil ffi
qrt. *q orrr< s-drrs€rrd{ q'gt Ro fr sqql qqs Rqr qqffi ort.-frrtr vilur.

u (87) 343

(l) 68

(3) s2

(3)

(r)

-)ttal
NILN

N
7)t

NTS.MS-MAT.SL x Ml5 40 of48
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Yr.
45. 13 : 19::31 : ?

(l) 4l

(3) 33

(l)

(3)

(2) 37

@

a
r1 rlan

./u

t,
(4) 47

Cr\

46. In the following question in every row the numbers outside the bracket are related

to number inside the bracket in a specific manna. From the given altematives
find the right number which matches and will replace the question mark.

u(87)343 49 (76)216 36(?) st2
(r) 68 Q\ se
(3) s2 (4) 48

47, Af\er folding a square piece of paper, it appears as shown in the left side

question figure. The paper when unfolded will look like as shown in one ofthe
alternatives. Select the correct altemative.

\9

(2)

(4)

U
IN
UZ7/-

7ail

x Mt5NTS.MS-MAT.SL @
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4s. srffi c6 qwt c{r q"'fr tdd qri. ffif,r qqiqr(l q+' cqtq srm f€sl *
qwi qr6.'fr +.qn-et Wi diaz

(r)

(z)

(3)

(4)

t!II

\

/

NT$MS-MAT-SL x Ml5 @E

YE eqr qrqrgr& q6



't

4E. The following question figure given at left side is incomplete. Select the correct
alternative which can complete the figure.

(2)

(l)

(3)

(4)

l!
E

\

/

NTS.MS-MAT.SL @

SPACE FOR ROUGH WORK
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lFr4e-so.{fir- r}{f,qr 3{rq[ffi +{ $fuftrd' srrqf-f,I q{.+6r{r

+qr u,rd+iqr ent-t urEturat fiwF+rraar ff{r nr} ffi

3Trtd. r+*, srrf,fr Euri t{FTE **r-ur qt ta. ur er5#ar

sR-*,rg+ 3r!qm 6GrT g#a vrt *s-at

nqt ilurR
+drq

urflfr qrqsrq

msflt

NTS-MS-MA',t-St. x Ml5 44 of 48
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Q. 49 and 50 : Directions- In the following diagram, three geometrical

figures have been drawn intersecting each other: The labels

have been given to different parts. Each figure represent

a specific group of people. Observe the figure closely and

answer the questions that follow.

Players

Private businessmen

NTS-MS-MAT-SL x 45 of48

Employees

SPACE FOR ROUGH WORK

Ml5



49. ffi ffi 6{qt +dr{ gtwfr q-dsrq +-klrd?

(1) b

(2) a

(3) c

(4) d

50. ffi +ar{ti-qrrn slrtd?

(l) b

(2) d

(4) c

***

NTS.MS.MAT-SL

(3) a

i5anl r5lgrqr& rtrftr
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49. How many employee players do private business?

(l) b

(2) a

(3) c

(4) d

50. How many players are unemployed?

J (l) b

(2) d

(3) a

(4) c

***

47 of 48

SPACE TOR ROUGII WORK
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{rE^rq wr YilE qtlqTr 2017-18
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LANGUAGE TESTING

SEAT$IIIIT drfle
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rftprffigtr
ewr* sdi ti:rftwqrTfi fdre w-{ q,rd$T&6 qrsr. flS.di {gffi eosffiqt
ffir 3rr6d

t. Tcqr le-sr +( {i#*' enfur 3{rs{ x.qr6 ffiqri gsq ftra. (q6r #d \'6-q
sr-6 qlccd) Fkr:qT s {Fr 6qr6 fe1M d qtfi 3rs€rfr srfi q-sl qt.

6i'r-drd rarrfl ft-fi rr6urn rtl qr* <rm qr. wngkfl s Em{cE-6r qr 6rftd #d
sns{ o-cr+' q +r r.#di6 qfd r-+fi 316 srfur {1+q<t sr.q qr,ft fm6r.

r<mrund:

2. r&+ vc-{r€r qE 1or qr+.

f. q* rrr ffit sfiqy.ra qrk qup:-ai fo@ tr lvlcf*dr qrqd q( T6r.

4, ckel g{Tcrw tE-ql" 61I €flFr qfircrF q6, cr{ d-<+d Mn c[{ {t6qr.

s. qerQt crra Bffi{ +d 
"+d 

il{ Rr*( vr€ & qrc{ r*r. 5ai rr< ffawre tar. t-d

rw fr5 gteqrq{ vr*er +dd 116 ++flr ql-<r<{ g<rf,r y6r ft-cr 6rdr ttd.

5. vfi ffiumsr& $alat flaqm *a fq-srn ts-l erqr qrffid src qt r€tc-flt B[+rr

c<l u.d ure r&e, qerat tttrsqr qffire arsqri 3{t.

7. eqn tsr l<rfl rai r}<ffi "qqr dtqr@" ( Languoge Tesfing ) qr yfrtdr

*s vfr{cf{c,r nErd e[rt qr$ qri 6'r.

8. v++, g:m-"qr rmuqre yr{SFs+cd qqtq R efirid. ert*1 Eer.r drq qr]d sr
qqtqm ilqrfi tr6r rr Er *qt6r-q {tsa {Erdr f<*€r t-rm qrc{ q'st t s-ts
tqtrrd (qrd) u-o-r ifrr{ Er. cri t 6rc grqr imrqfi+ qt-q{ ffiet oMR Sheet

. s{ +.c snrga fieqri eilt !FSR.cI {4.
9. Eqqr qr $R-+il +( {+ni6 s{rfu qqr fiqi s q-d +,rq qrdfrq erq 6rd-d fd-(

;li .

2of32

CENTRE coDE +-( d+dt{- IIIIII
SEAT NO. omril i6'qFF IIII
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10. sndr cni* i-dt irqrq q{qrd 6{r.



qlsrdvr€ - q(r&

rFt 1-s : qFfla rdRr qrqr Hrqrd f{+f,r sfiiar rf,{iqr qqtcrq{

srqm veia ftrsr.

vIm

ynfrfr+fiiil rfdril fpffi qup qtrer ilqtfrfl <er t eri e-d-d qnd dA. {qrTA

ryqcfr€r rqrr{ rts-{ qrtt+' frcc-dr {td sr{fr er* q-aa ffi eQq Erq qrqrtqq'

frqrdr dqtrurrt srfi-C Ssi rd-6 di 'aq'. <v1r ur{ q-d frqr risre trnrivrqr

qsri$ qfi q,ri q-nn +d, qrd {c<-s ffi gr{ q stvfr t qt{r-cd dt. EU({

6ln q-{rar0 3-sH {6td qnor td srad frt{ts di qrrq +Cgqrqr& +ln zrcufr

qccfr rrff u'nq frtfr cG{rts q0. RrArS qrd qTdq e'r} arcna 6H. qWt *qr
q,ffi Trqtil{ qur0d lrsri ercfr Fr6-sq trarer5* gnErrdr stftA riraqKrql H{i

vrer +6. q wst5d q+' qrd M er+t ffi-A sqffi.

- #q{ qclffi

r. srqrf{*, frcc-dr {cffi 6rd-n Sgt v#n dti?

(l) q{qr (2) srE

(3) r6-d (4) qqe

2. srd s effi t +M qd oni?

(l) srfow{ra-d (2) frfrd

(3) fr{{d-( (4) +qrfd

NT$MSL.T. x L.T.I 3 of 32



3. 6rrR *suql{Ir& is,,flrqr qrq{ +fi?

(1) zrc!fr (2) ci

(3) fs6 (4) <nr#qr 6ra

a, affi TCqiil +qr qtrfid ereeE-e qvn-cr Tc{ grfi l']-fr?

(l) qrra4rq (2) ftqK

(3) Ilid-dr< (a) rrcrq

5. qfrd Eflqrq qM vfr+q' Eqf+' qr.i?

(1) q{q*q (2) Erqtc

(3) Etsi+m (4) dq

rrrFr 5-10 : sr*a qfuar cTEr ErqRftc f{&ar sv1fdr Efli-qT qqtqrtr

3r{fi qqtq ftTsr.

E,fudr

rrqr€frT6rd-fus'*fErd
fr sd sq ard qr fficcwr

tfuc{ Tsra nrqH r6ra

vtrrq f{s qrd q dq-*o qrgr

x L.T.1NTS-MS.L.T. 4 of32



v6rt offir fr$qr Hqfr +fr +qr
qRrq rrfr <tqr qr dq-*o qrgr

qrdT iFlT qElt Ffq Yt< qr(lT

qtfi q qqqrdr q ffia qrgr

wrd qs ffi *-fr-d vrmi
sn<i qfrr qri q dq-*a crflr

n-dr rt Sd n uro a-t gd w

6ffi r *er qr dq-*d qflr

cr{+ Cr@ cri, t+( +fr drS

vtfi v< f*rd qr ffid qrflr

- {tr-r{il gfi,++ rGRrq

6. 6-+dr qfgd +J crq grd?

(l) {rsqrsffi

(3) frrsRn

7. 6dt 6ffi rsn orBz

(1) Tfi-de

(2) +sqln

(4)ffid

(2)ilqd

(3)ffi (4) q{r+.d

x L.T.INTS.M9L.T. 5of32



8. 'qqrq'Er Yrq 6t3 qtilil t6rq-dr fi?

(r)ffi (2) g6,rrfe

(3) T6rdrfg (+) 9-(cftffie

9. qturflr rM ersrd T6rd +qr *drd2

( I ) {s-{rd<R (2) <rsrfdr

(3) {6ri q ftr+<r (4) tr{6

10. ffi g€ w{r 6i'r drsd 3rr}?

(l) qi( (2) t+(

(3) rt( (4) T+(

11. g-&f, qrflrqr 6q <cd-d-dr sni. u$pl ffffi drq rq durdr t €i{L

(e[) q6F C-65' tn q arrot

(q) fr trqffir q6r dq1rf,r c-w Ret qtdtd lH
(6) q*rwp q+ f6+s are-d

1g; q qlqt{+fl +soT-€r +d ffi

(l) rr, 3, 6, sr (2) 3I, i5,, s, it

(3) sr, c, s', s (4) s, 3r, 6, ir

NTS-MS-L.T. x L.T.I 6of32



12. '6,rc+tq gqrgrd +q @ a5qn'qr 6rdrt*+tl str6'R dqil y-6'r{fl sni?

(l) qr€fi (2) +f,flJqfd

(3) qfri-6 (4) sccr

13. 'qr6-s' qr q'rqrqti q-6 *tsr 3nid?

(l) Td rctq (2) {d dris

(3) r-o qarn (a) wr qs-{rq

14. 'Iffi'qr yr<rqr fuFgr?fi {rE srd-d qctqF *dqr

(l) vn (2) ffi

(3) E-s (4)+n

f5. 'eqt4'Er 6(F6R oM s-a *-arz

( l) srficisd (2) rk fs-d

(3) $il nriF{ (4) {T{rq fsn

16. durfrqrq{R sffi erqr vr< a}urml

(l) qqq{ (2) qgtm

(3) qqtrp (4) qsq{r

NT$MS-L.T. x L.T.I 7 of 32



17. 'crdr qcr{r({' qr {{+i s{qrq-6, dsr 3rr}d?

(l) q1ilr{ srq (2) nrlsri Fri

(3) t+tg-ari qq-{,la (a) tq qrrq-r

ls. €ld-d qff, durflr e-s'rd eni? "cq qli crflcqr 6,rA {q!ftq ll4"

1t; urofr (2) c{-{lm

(3) r-fRrfr (4) fEqmd

19. 'c-ccFr' qr srqrfuo {<rfra gqrq dsrdr:

( I ) oCqnq (2) 7k

(3) f6t (C) erq+qe

20. 'i{l{rri'Er qrr 61sfr FdFdr?

(l) f{{r$iil (2) I${tcqn E{ci

(3) +tq-d fi.d ( ) Irr{fid qqrf,

21. 'qrs-crerrR' t clqri ztqq rc ori?

(l) <-caq Fr6I ffi (2) fl-r6{ <trrq +FA

I
\
\

(3) +lrs k{+.{ ffi (a) c-drrc +$s ffi

NTSMS.L.T. x L.T.I 8 of32



22. 'rrql EM('u cft!-dr qr.&q fuicz dufr fiqlul +dr?

(l) <Rrsrid s,r6fi (2) <r(I Eis+

(3) <i q-qR cld (a) ei ftm oq

23. qrd-f, Tea ? qqqRl,q siqil?

(l) e{t (2) qli Us

(3) +sdr (4) #tffitt

24. 'qts {6tqr dd' qI ql{ral{rsl dtq erd durdl?

(l) +fi' dsi (2) +drrfi qrt

(3) q{rii qzi (4) K.td

25. Good will q1 ffiffi6 yrqrsl q{rJi srei strdr?

(l) Et sr.i (2) f{ic td

(3) sF€r (4) qFid rr6!i

26. qg6-d-sr da ri-csU cEr +{cr !r{1 5:€ T{sti

qr qnqrfie'qqr'Er {l< ffi qqq eqrd?

(l) {r<+ft (2)ffirfr

(:) ffiqq (4) sqqrd{

NT}MS.L.T. x L.T.I 9of32



27. d€rhqcr{sR oM qrf, erqr arfr?

(l) qfi6-dr eFrdHr qr qql€ r6'{rsr drt

(2) fiqrq srs-r wod {rdd qrrA

(3) sr(r ilTd {q-d

(4) A +{rql d-fi firardd T€+

2E. ree6 qrd srrdd nq q6€ clffic q{rd slf6fl {t-€r 6lqrq orqcrM grd?

1t; u g ftrt

(2) {IrdI ffi

1:; mr+v otnrd

(4) Erc a.rd

29. qrd Riq qqrd-d otftfua qr*qRrqd t+er qqftrH 6iqmr qqftrfrrq ifli?

qrfl-T{qr 3TrfS -rd qrdrrd

(l) {d 6rdd

(2) eq fqsrd

(3) t-co ffi

(4) 6r{q ft'qi

NTS-MS.L.T. x L.T.I l0 of12



30. T+d qrf, otrf,r +dqrifi-d sni?

rrsRFr rrss qr(qrq qrqRrs' qrqo qotd f\nFllrs Ed-d

(2) qrvqufr

(3) dqRr (4) qfld

rQa 31-40: qrd ffier rrcq Edlqr#fi ft6rqr ilfr f{(+€r qqtqt({ Arq

qqtqr* f+qc q,{r

ffifr-+, {rrqri t sa-* rr dd. ta-qqi-d qrcqrqq

qrr4td-<em,ft-oq,faqfrrqr q qsq rttt* rz. aiFrliSkl

Nd *fr qul qrs ffl-s EkIkI Erd rIEIr onqgt +ffi :: qrtrdT

in dA d crs a-fJ Eurq qqrfre crs r+... 3{Fr Rrd

lur+o vrvdqfr Euri :liil{a qr taqFrr ffiFr+i ts

tdffid sni frfccs, ffie{s, qtrJqq EUT'A rrFdcl{dr, Tqdr, ffiqil, x-ed dar{l

qrffia qrrt :0. duqrq vqa +dr crkq. $mFro tS

ryauqrd 37 ffi crH onfur E-d{iqrffi qrffid

qrF 38 *-d qrffid orsr rq EI t4q

@a id ervd. lt raq<iqrs@ qo,,qfsr+, +0.. rrdit

+{d qsi.

NT$M$L.T. x L.T.I 1l of 32

(l) qifr 6s+1



qqiq

31. (1) !-iftd

(3) ftrrM

32. (1) 6,{A

(3) sd

33. (l) ersaq

(3) i{qr

34. (l) Ei.E

(3) ci{r

35. (l) dsqrfl

(3) *{qTfl

36. (l) rrfdq6

(3) +dqr

37. (l) eFw

(2) wq

(4) cff€

(2) {d-e

(4) cri

(2) qrun-s

(4) qlq

(2) t{r

(4) T{rrl

(2) st(srfl

(a) a-d-crfl

(2) e-trclr

(4) i-d-crr

(2) ftr6€

(3) ran (4) 6rr{r

NTS-MS.L.T. x L.T.1 fTreTl



36. (l) 6e

(3) rsq

39. (1) en<{r

(3) €-drq

40. (l) cqrfr

(3) qflrd

41. '{rc{nd' qt rr.6d aq*, dsr sne(?

(1) +qq {s6

(2) rElfrn i€r{

(3) qrdrsr+q tsri

(4) ft-{r qwi

42. '{-d tc{rsri' qr qisnqr c-S 3nid?

(l) {n s'4i-dl

(2) rf( #a

(3) sd ffia

(4) Ird dsT+dr

(2) rr{d

(4) qc

(2) qt{r

(4) 'f,

(2) tqat

(4)T€fr

NTSMgL.T. I X L.T.1 13 of 32



43. 'Plumber' qI qlftEIfufi Yr<rql q{rdt efid 6itrdl?

(l)ffi

(2) rda

(3) fdqd q,RFfr{

(4) @ 6RFfr{

44. gf. qnrqriq sriasfi rtqq g<+'rrri dqil qrftftr+tdr drEuq( qd qra?

( I ) s:i. eFfq qrqs

(2) e.{. *r-6d

(r) oe or+g

(4) {rm{ rr{s

45. rr€qrdra[ s{qt qrfl Wf 6{r

qrqqrd g,rdqrd qqr qr+* d ..............

( l) *iaa un errer+r

(3) 6rr sia grflrc(

(a) ftfiq aFrerq(

NTS-MS-L.T. x 14 ol12
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46. {r-zsd gfeifr T€Trrsrsl yfug iq slordr?

(l) qrrc-(Ifl?r

(2) cr6{ri-dr

(3 ) {rqrfl-fl

(4) ficrfl-dr

47. 't[qrr srrdq' qr q'lrd 6ffi 6qi (crtqE 3nid?

(l) E-d rrte

(2) sd g6Rrq

(3) sd t-{r r6Rrs

(4) qd 6-fri

48. 'viia{q' qr {r<rqr {qrq dsr )

(l) f6rt {qrt

(2) 6dqRc {qlq

(3) sa sqrq

1+1 er<frwe vars

NTS-MS-L.T. x L.T.I l5 of32
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49. "ild t <lar E sf,q rllfco sniq", ? qrfl 6M t-trrtdz

(l) tq-crftr{,rt

(2) €vrtcrsl

(3) Tr*

(4) sIdA qftrfirt

et. 'ffii'qr {r<r* ffi stdcr.

(l) €-+.rl

(2) fdqr

(3)ffi

(4) qlilfr

*++

NTS.MS.L.T. x L.T.I l6 of32



Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the tests:

l. Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing
in the Centre Code and Seat No. are correctly transfened to the appropriate
blocks on the booklet and on the answer-sheet.

Example

cE NTRE CODE 4-( s+-di6

For all subsequent purposes your Centre Code and Seat No. shall remain
the same. Centre once allotted will not be changed.

2. All questions carry one mark each.

3. Since e!t-gltg!$O1g-tfS,gg do not try to read through the whole
question paper before beginning to answer it.

4. Begin with the first question and keep on trying one question after another
till you finish.

5. If you do not know the answer to any question do not spend much time on
it and pass on to the next one. Time permitting you can come back to the
questions which you have left in the first instance and try them again.

6. Since the time allotted is very short you should make best use of it. The
rough work is to be done in the box given under each page.

7. Remember you have to mark qn your answers in "Language Testing"
Section of the answer-sheet.only.

t. Answer to each question is to be indicated in the anslver-sheet by encircle by
black pen in the appropriate numbor of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet.

10. Now turn to the next page and start answering the questions.

NTS.MS.L.T. x I,.T.5 11 of 32
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LANGUAGE TESTING - ENGLISH

Directions (Q. Nos. l-5) :

Read the passage and answer the questions based on it :

Parcnts of children who were saved by fisherman AMul Sattar flocked the Triveni

Kala Sangam on Wednesday aftemoon to greet AMul Bhai, who rescued most

of the children in last week's school bus tragedy.

Abdul was awarded the Times Hero Award by Rajya Sabha Deputy Chairperson,

Najma Heptullah. 'I find a God in this man', said Raj Kumari Devi, whose ten-

year-old son. Arun, was rescued by him, 'This man emerged like an angel. None

ofus knew swimming. We did not know how to reach the scene ofthe accident,

which was in the middle of the river', said Arun's father, Chand Sharma was

another happy soul. Her two sons were saved by Sattar. Chand says, 'We.were

helplessly roaming about on the river bant while this man was shuggling to save

my children. I shall never forget the conaibution of this man to our life. We go

to the temple, but these are the true Gods amongst us. I wish I could give him

every little belonging that I have. He is great. 'Abdul Sattar is simple fisherman.

He has spent twenty five years of his life worrying over his daily meal, what he

wears and a fixed dwelling unit for his family. But the man made a mark when

the recent school tragedy occurred in the Yamuna. He saved the lives of most

of the children, who were drowning in the river.

(l) a teacher

(3) a carpenter (4) a driver

NTS.M}L.T. x L.T.5 l8 of32

,

l. What is Abdul Sattar?

,(/ a fisherman



2. Pick out the antonym for'remembe/?

(l ) save (2) rescue

gtl forg"t (4) forgot

3. Which award is mentioned in the passage?

/ Ti-es He.o award

(2) Times Heroine award

(3) Padmashri award

(4) Padmabhushan award

4, "He is great", who has made this statement?

(l) Adbul Sattar

(2) Najma Heptullah

(3) Rajkumari Devi

qtJ Ct *d St "r."

5. Which of these pairs is the odd man out?

@ last week

(2) little belonging

(3) happy soul

(4) little family

NTS.M9L.T. l9 of 32tx f L.rs



Direction (Q. Nos. G-10) :

Read the psssrge and answer the questions based on it :

Anaemia is a major public health problem that affects women and chil&en

throughout their life. In young boys and girls, anaemia limits their growth

development, reduces their concentration, affects their learning capabilities and

makes them susceptible towards infection, thereby increasing school drop-out

rates, reducing their physical fitness and work productivity.

In girls, anaemia leads to early delivery in future, birth oflow weight babies,

higher infant mortality rates and higher matemal mortality rates.

Anaemia is a preventable disorder. Adding rich food items to the diet and taking

iron-folic items to the diet and taking iron-folic acid tablet regularly go a long

way in maintaining natural haemoglobin levels and reducing prevalence of

anaemla.

6, The major public health problem mentioned in the passage is

d) ,q,u"-iu (2) Typhoid

(3) Malaria (4) Swine flu

7. In young boys and girls Anaemia affects their

(1) teaching capabilities ..1[2f leaming capabilities

(3) eating habits (4) physical fitness

NTS-MS-L.T. x L.T.5 20 of 32



8. We should take tablets regularly.

(l) calcium

(/iron-folic acid

(3) vitamin

(4) tonic

(l) oxygen level

(2) red and white blood cells

Q,/haemoglobin level

(4) calcium level

10. Which word in the passage means 'curable'?

(l) major (2) susceptible

{w**'rtt" (4) natural

Direction (Q. Nos. 11-15) :

Read the passage and answer the qu$tions based on it :

Shree was working in the stone quarries at Turbhe. He had a son; Shekhar.

He was blind from birth. His father had never let him out of the house as

he was afraid of his safety. One day when he was twelve, five boys from

the local Municipal School came to Shekhar's house. They were shocked to

know that he had never stepped out ofhis house since, his birth. The boys

NTS.MS.L.T. x L.T.5

9, We can prevent Anaemia by maintaining natural.........................

EG.rl



were members ofan 'Arambh' project that tries to get children to be educated.

They told shree that he should send his boy to school. Shree did't like the

idea. He belonged to a poor family. After repeated vibits, the boys again

visited and told shree that the school admission was free. Shekhar was.very

clever. He got 2nd rank in his S.S.C. Exam. The school headmistress called

Shree and said, "Your son has proved the best in the school and I am proud

of him, he was really a hard working boy."

ll. Where was shree working?

,o{r, the stone quarry

(2) in the stone lorry

(3) in the muncipal school

12. How many boys came to Shekhar's house?

(l) twelre t11 nu"

(3) two (4) seven

13. The phrase'to let one out'means

(l) to be shocked

(2) to go out

(3) to give permission to go out

4{ ,o urr""

NTS.MS.L.T. x L.T.5 22 of 32

(4) in an 'Arambh' project.



14. The boys were shocked to know that

(3) he had never visited school.

(4) None ofthe above.

Dlrection/ Indirection

16. Sl : Once I decided to prepare tea myself for my friends.

52:

53:

S4

55 : Finally I strained tea and served it with biscuits.

P : I added five tea spoons of sugar and thee tea spoons of tea powder.

Q : I took three cups of water in a vessel.

R : Then I switched on the gas stove and boiled water.

(l) PQR

(3) PRQ

RP(2)

QPR

NTS-MS.L.T. x L.T.5 23 of 12

(l) he belonged to a poor family.

gf n" ma n"r", 
"tqped 

out of his house, since his birth.

15. The school head mistress was proud of Shekhar as ...................

(l) he was blind from his birth.

(2) he was an honest boy.

(3,) he was really a hard working boy.

(4) he was an educated person now.



17. Sl : The manace of plastic in the state came to the fore when thin plastic

bags choked the drains and caused water logging.

S2

S3

35 : But the anti plastic movement is gaining stream in cities.

P : Later the govemment decided to ban only bags of thickness less than

50 microns.

Q : In the aftermath of the incident the govemment proposed a complete

ban on plastics.

R : However it may be a long time before plastic is completely banned in

the state due to its widespread utility.

(l) PRQ (2) PQR

(3) QPR <r/q*,

lE. A : Sparrow was the first bird I was introduced to

B

C : Later the roads were widened and the birds left our area.

(l) Spanows love feeding on grains

54

ej er u child I would keep watching them after my school hours.

(3) Fruiting trees attract many birds.

(4) I know it doesn't understand our language.

NTS.MS.L.T. x L.T.5 24 of



B

C : After an 18 hour operation forest department ofhcials finally capturcd

the leopard.

,r{*" leopard had entered in the premises of NES school.

(2) The leopard had entered in the premises of police station.

(3) The leopard was kept in a cage.

(4) Even today leopards are being hunted everyday.

20. Superstitions inhoduc€

power of suggestion.

(l) rational

(3) valid

fears in the mind and weaken it by the

(4) weak

21, My greatest guru is my mother. She gave me of life.

,q{urft"" (2) meals

(3) education (4) message

22. lf we had the that however difficult things are right noq it will not

remain so forever.

(l ) impression (2) conviction

42{nr*"

,{*r,", (4) thought

x L.T.5NTS,M$,L.T. 25 of 32

19. A : The leopard was found in the basement of the school.



23. While you deliver a speech, always be

(l) shy

(/ confident

(2) nervous

(4) stubborn

25. Many people consume food because

(l) It was become a matter of convenience

U) It has become a mafter of convenience

(3) It is become a matter of cooveniance

(4) It had become a matter of converiance

26. Previously they used to live. Paris

(l) with (2) by

(3) within <o{,"

@ She always avoids artificial products and goes only for the natural

(l) does she ? g{doe*'t 
"h"z

?

(4) will she?

NTS-MS-L.T. x L.T.5 26 of 32

24, We should have balanced diet' every day. Here balanced diet means..................

(l) delicious food

@ limited nutritious food

(3) food that is oily and spicy

(4) local food

(3) don't she?



28. If it rains tomorrow, we

(l) Prepare

,{ wil prepare

(3) could preparing

(4) are preparing

29

/ she steals things.

you like to have tea or coffee?

paper boats.

(l ) can

(3) would

30. She has got green fingers. This means.

got no experience of life.

p,{*u,

(4) should

1/,n"*

(3) she's good at gardening.

(4) she's got fingers green in colour.

31. Peace and Progress always go hand in hand.

(l) go together

(2) depart from each other

(3) seperate from each other

,tlfgo panllel

NTSM$L.T. x L.T.5 2'l of 32



32. He has been leaming English qEgUd-A! for sometime past.

(l) regularly

gf irregularly

(3) steadily

(4) caretully

33. Bv end bv the teacher came into the room, and there was pin drop sileoce

in the class.

(l) before time

(2) some time afterwards

7z{in ti^"

(4) in a short time

34. After a lot of efforts when his scheme has fallen through, he felt very sad.

(1) succeeded (2) collapsed

.d ruit"o (4) passed

35. His UgidCajDeSCb in the parliament was a great success.

(l) first speech

(2) last speech

{gooa 
"p"""1

(4) long speech

NTSMS.L.T. x L.T.5 lr8{&iTl



Direction (Q. Nos. 3643) :

The earth is the (36) planet of the solar system. No other

planet other than the (37) has life on it. As the earth is a

the harmful rays from the (39) towards the polar regions

of the earth. The sun which is at the centre of the solar svstem is a vellow

coloured (40) _. Mercury is (41) to the sun.

(42) is the largest planet of the solar system. Mars is called

the (43)

Direction

36. (l) first (2) second

(4) last

37. (2) Neptune

(3) Uranus (4) Satum

38. (1) Star {?4 Ptanet

(3) Magnet (4) Asteroid

39. (1) Moon (/) Sun

planet.

,a{*o

v(r*o

(3) Mercury (4) Mars

NTS-MS-L.T, x L.T.5 29 of 32

(38) there is magnetic field around the earth. It diverts



oo.g/"*

(3) satellite

41. (l) largest

(3) farthest

tz.rll npiter

(3) Earth

43. (l) yellow

(3) white

44, I have kept a reserve funel in case

(2) planet

(4) Super Nova

d"to""",
(4) smallest

(2) Mars

(4) Venus

(2) blue

,e{,a

accidents.

(1) with

(3) in (4) to

45. The. is a person who is mending shoes.

19(hopke"p".

(2) carpenter

(3) cobbler

(4) buyer

46. The train ................a1 6.30 A.M. everyday, so the platform is crowded.

try{amues (2) arrived

o{,r

(3) arriving (4) will arrive

NT$MS-L.T. x L.T.5 Fo;r.:Z



47. Little Rohan is very much interested to watch the ships .in the

ocean.

(l) saling (2) selling

Pf sailing (4) celling

48. My mantra to be happy is very simDle.

1y'i^v"rt""t (2) unhappy

(3) difficult (4) worst

49. Solar energy is modular and $d&l3 and can be generated at the point of

g/ measurable

(2) immeasurable

(3) countable

@dvahabte

use.

50. Our problems are so egl0!!01 and we are very small.

(l ) shong

{extremely larye

(3) small

(4) difficult

***

x L.T.5NT$M}L.T. 3lof32
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qfrq{rffi {fir

2. v$6 w-<rer qo W qrt

f. sd vr< ffi fiqg6 silti:6up rat fr@ ff w-wfuor araa <qr*l
4. cket eyrrcrqr gcam alt e{frr garcF1r q*, yra ffit Pl<avft crr +s{.
5. qqrE{r cwri Efrr tr r}a m Rnr qr€T ta era-{ <6t yei vl-< ffsr<r<

qr. sd c{-{ <tcqt flerq{ Td-@r +drd 116 +&@r v{-{r+{ EErdr gar fe-<n ecn
€d'

5, vfi +sFsucmr& (rrret Fsqm *a fr-cRrd *sn ersr qrffid qrc ffi sqdl
a,o. qd urc y+e, prer t&m dir+a-e 6{rc€n+ ort

7. aclrd +sI gRnql sfrt ftffi "w&q ffrdr qrqufr" (Scholastic Aptitude
T6t) qts Yo<ct{6r furd e{ra qrfr q* E.u

8. v*+ c{-{rqr roasr& yrtSFr+qq yqfq R e{raa. etH gqrer d'q sr}d ar
lqt<tqr e.qr+' c6r s F[ sqr+,rqr a-fan g<rdr Rsr t{rqr qrqr 66r t {ts
tett*-d (o,d) iFF;I Birt ar qn t r6FI lFirr B-d{qFd+ q1t{ q}g+flr OMR Sheet

fi qlq RilgA e.{-{qrq elrtyrsffis( lrd.

9. ?clr qr gffia +{ $kti'6 €rrFr irc{ Eciu, c o-d e,rc qrdftq qq +rfirt
fcqr*t

10. e{rdr sc-{r$ s-dt t"crs terir 16(.
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cw* 3-dt aqclglT 5m qm ara-ff-*' qrqr. gr* 3-dt Fgn s-fr{cfr*lr
ltrrr*qr*srtn:

r. Tscr E{qr #( s*-di6 slrfur sTrs{ rqio en;n.arqd gwe tca. 1qfir Md
q+q if,fi qqqrq) sd:qr snsr slm'frfto<r1fi d q{td{ ora-€r* q* q-s-r qt
dlrdrd {.r'rrr frff {r6qrn qrd qr* <rdr qr. vv<gk+r q rm<qfufir qI q{-d Md
ensr s'ql-6 q *-( wa;.drfi qrd-d !-++, oi6 enfur rfqSer d'q qr,fr ftr6t

r<nronei:
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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

Answers are to be given on the ansrvcr-sheet, which combines both the tests:

l Please write your Centre Code and Seal No. very clearly (only one digit in one block).
Before writing your Seat No. get it asccnaincd fiom the Centre Conductor. Please see

that,hb'block is teft unfilled and even zcros appearing in the Centre Code and Seat No.
are colrcctly transferred to the appropriatc blocks on the booklet and on the answer-
sheet.. -

Example

For all subsequent purposes your Centre Code and Seat No. shall remain the

same. Centre once allotted will not bc changed.

2. All questions carry one nrark each.

3. Since allgue$iggs-aIe-soIEpd3sry do not try to read through the whole question paper

before beginning to answer it.

4. Begin with the first question and keep on trying one question after another till you finish.

5. If you do not know the answer to any qucslion, do not spend much time on it and pass

on to the next one. Time permitting \1)u can come back to the questions which you

have lell in the first instance and try thcnr again.

6. Since the time allotted is vcry short you should make best use of it. The rough work is
to be done in the box given under each pagc.

7. Remember you have to mark on your ans$crs in "Scholastic Aptitude Test" Section

of the answer-sheet only.

E, Answer to each question is to be indicatcd in the answer sheet by encircling with btack

pen in the appropriate number of altcmalivc in the answer-sheet from amongst the ones

given for the corresponding question in lhe test booklet.

9. Do not write anlthing except Centrc Codc Seat No. and rough work anlvhere in this

booklet.

10. Now tum to the next page and stan answcring the questions.
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Yn&c qTqUft

1. <t q+-g6dnl Rmn qnq

(l) nrqrqt1r slFraFffiqi v*rsr t-*ftfd ffi.

(2) sraERqR a-qe toa.

(3) drt qc < s*rdrd.

2

ETi €FflI +dr qrd.

11 1 <L rcfrf+< quon

1z; d. fr. tfi. rm

(3) sL f{frq {R:{rt

(4) d. s. {. i. er€a o-on

3. F=G fff-t w fu6 a{v<rerd qTrrild.

(l) q:Tqr rfifqq{fi rfrm f{qc

(2) qrrsr rfrhq{o gq{ f{cq

(3) qrrsr rrfiBq{o ftqn ftqq

(4) gclKql qFnfl'd 6+qr 3{q{dri6 €ild q vcqT flI c{€rd.

qrqr srsnrJ trRn vcortdfi '2s +-{qrt'6r fflq 'rr$q tc-fli f<r'

:r!r I

NTS-MS-SAT-SL x sl5

(4) nrrqr g6-€rr6.{qqr f{cc
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SCIIOLASTIC APTITUDE TEST

l. Twinkling stars are seen due to

(2) weather changes.

(3) stars are far away

refractive index ofair in the given region goes on changing and randomly.

2, Govemment of lndia celebrates 28 February as National Science Day'in the

memory of

(l) Dr. Hargovind Khurana

C.V. Raman

(3) Dr. Vikram Sarabhai

(4) Dr. A.P.J. Abdul Kalam

mt'&
R2

3. F:G is the formula to prove

( I ) Newton's Firct law of motion

(2) Newton's Second law of motion

(3) Newton's Third law of motion

I

I
1

ewton's Law of Gravitation

x s15NTS.M9SAT-SL 5 of 64

( I ) irregular emission of light from stars.



4. qqr qr+..d v-*dr qd o.<qnqr # qt{qra 0.5 frd+ee uqt er}.v+t so

qar 3nt m qi am-e ratEt q-gffi +tiel <Iq 6r€L

(1) too x t06 N/m2 (2) 50 x 106 N/m2

(3) 100 x 1o6N (4) 50 x lO6N

5. {s€ ldi egre ercr tm 3n+.

(l) 20 (2) 2s

(3) 30 (4) 35

6. Erd-€ kiq I, ltq m i t{tsm o.sr *sqr W* qrFr R€r cqrqiH q{f, s-d{rcl

qqtq ffisl
I II III

tqr*q+.sr
ffi (a)

q*.I fqvqr 5r+ f{{I{'o q6-fi q:r

vqRri eilrm{ur ffi eilq{q-6 ({fr
(D RIro

B
rqgd
ffifl

(b) qRqqrfi-o viq qraffi qrqrdrd (iD I=?

c. tdqg-dqru c)(

Rcq qrontna qn-*rqr +M
Et-&rqr rcrfrd dum q{u tdqgil

9qR

(iiD
R(s):
R,+R +Rr...R(n)

D. t'r+-dr )(d
qrf6 ErT RrqiCrW qafl sni sr.r{
srd-tr e€t

(iv) w
o

(l) A-b-iii,
(2) A-c-iv,

(3) A-d-ii,
(4) A-a-i,

B-a-iv, C-c-ii, D d-i.

B-b-i, C-a-iii, D-c-iv
B-b-iii, c-d-i,

B-b-iii, C-d-iv,

D-a-ii

D-c-ii
NTS-MS-SAT.SL x sl5 @



4. CaEl ate pressure exerted by a screw on the wooden plank

the screw is 0.5 mm2 and its weight is 50 N.

(l) 100 x 106 N/m2 (2) SO x 106 N/m2

100 x I06N (4) 50 x 106 N

5. The distance ofdistinct vision is

(l) 20

if of of

\06
0

(*
(t\

0

\6
cm. /r
0 1

(3) 30 (4) 35

6. Observe the Columns I, II and III, match them and select the correct answer

from given options.

I II III

A.
Resistors
tn senes

(a)
Required to move a unit
positive charge from one
point to another point.

(D o RI
a-

B
Potential
difference

(b)
Used to increase effective
resistance in a circuit.

(iD I=
o
t

Electric
current

(c)
Net charge flowing through
any cross section ofa
conductor in the given time.

(iii)

Resistivity (d)
Depends on the material of
the conductor

(iv) v=Y()

A-b-iii,
(2) A-c-iv,.{
(3) A-d-i(
(+) a-a-i,(

B-a-iv,
B-b-iii,
B-b-i,
B-b-iii,

C-c-ii,
c-d-i,
C-a-iii,
C-d-iv,

Ddi.
D-a-ii
D-c-iv
D-c-ii

x sl5NTS.MS.SAT.SL 7 of &
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C.
R(s) =
R,+Rr+Rr...R(n)

D.



7. MRIiltw srrt

(1) {ifiilq f|Rfs se*

(2) {rifrs wts r}n
(3) {rifc6 Hiq Eqtur

(4) fiFwq frFfq {iffil

(l) EE-mc eatffio aM fd$r{fr ild+qr dqr ffic ffi fflr qrqt{il"

(2) ft Tdsiq qetvr q+-Hrar 6'.i-fr d<a arfd

(3) qr ffi E-{dtq d" i{ftr6 vqrfi sTsA erffi ffiq qetqr 3rhrfiIFrfi q{a

qrd-@r ks-drd *'.fr vrrr-A ffi fircri ffi< ddiqr q*t+hT6 R qrdrd

(4) ffic qetqr qr saq {frtsl srw Rrd {h--fi <|slq gilqt$ di r< {-+e sm

g-qm{fr fi.

f. iliil+fi onflrdfi srd R€r f{qndd ao toun F.r+sr.

(1) qr6qyBqFrR srqrqyt'6' T{qtqr dq fddr e[€-d.

(2) sr-flrh q+'q+tr ffi q{T{-fi srsd.

(3) drdr orfffi orrtsl Ewrkr.

(4) ersr sc*q qq-{& f6qr s{qrqvqnnA rr{init

NTS-M9SAT-SL x s15 8 offl
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7. MRI stands for

(1) Managing Response Index

(2) Magnetic Resonance Index

c Resonance Imaging

(4) Managing Response Imaging

(l) The tangent at any point on the magnetic lines ofpole gives the direction

of the mapetic field at that point.

(2) No two magnetic lines ofpole can intersect each other.

(3) Magnetic lines of force are crowded where the magnetic field is strong

and far from each other where field is weak.

They are closed continuous curves. They start from south pole and end on

north pole.

9. Select the incorrect statement stated below related to concave mirror.

(l ) Outer surface is coated with opaque substance.

surface is polished and thus reflective

4( ls used to observe the phenomenon ofrefiaction.

NTS.MS.SAT-SL x

8. Which of the followings is not property of magnetic lines of force.

(3) It is called as converging mirror.

si-l fror@



10. 't{q5d DC q-rta'qr qrf-fri tttqq an srFI rTqfiftF ffisI zilq ffi:fir+o
c

D

R
S

1t; r-rfu til6, a.slr+{{ qifid. R-fqqr$d +-4, s-a;*o

(2) P-#6 qrq, Q-qI+q{ Eftd, R-fsqrdn 6-d,S-si+d

(3) P-sr{frard 3-i-6', a-fu6 qrrr, R-ffid, S-nR

(4) P-fud vn, Q$n{o, R-tsqr*d 66, S-{rffi E{+,

11. q6,r f{(gil T€qr :i;sf,r{r 0.4A w61 t{{TftrRr 3 frfd vqrkd *a qi-o m an

cftcqtr dorm td<g-flcn ffi er+f,?

(1) 12 C.

(2) 36 c.

(3) 72 C.

(4) 450 C.

l0 ofgNTS.MS.SAT.SL x sl5



10. OEitrve the diagram of'Electric DC generator, and select the correct pairing of

labelling.

P- Strong magnet, Q-Armeatue, R- Splitring, S-Axle

(2) P-Iron core, Q-Amreaturc, R-Splitring, S-Axle

(3) P-Stong mapet, Q-hon core, R-Axle, S-Wire

(4) P-Iron core, Q-Axle, R-Splitring, S-Strong magnet

R
S

11. A curreot of 0.4A is flowing through a bulb for 3 minutes. Find the charge that

isflowingthroughthecircuit. I,O.q+ 1ry
(l) 12 c.

(2) 36c.

2C.

d-\8c \
n.Z, X \(0

''r" 72"
(4) 450 C.

NTS-M$,SAT.SL x st5 I I of64



12. ffif, tfllrrT'fri f{tqq t,'<r q efd+S furd, €6q rfllfq qa,R qiql €q+' '* tfisr

izl

cB

(1) Ti5-dr qqrqr rrffi, qrwq qrq gcra, qq+sl +dr

(2) e-fidr qra q 1ffi qI ({EIR, qrwq qfrr 3da, aER

(3) +mr qrerqr vffi, qrwe e{FI Efia, qqiqr +dt

13. 5-ed fuelil cM ttqq c"{r qFr ffier s-dtiq cqlqEt 3-61sr cqtq f{4sl

R2

+l

D
R"

C
+

o

(1) f{{g-d cRcq sqcr sni.

(2) Rr, R2 s R3 t tq q+'.{R *s"nd slTid

(3) ffi-ci 'A' qcr{R qts!frd ona.

(4) Et€mzr 'V'Hqrfi ffi( !{ri.

NTS.MS-SAT.SL 12 of 64
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(a) q*a qrq q qr$ qI <{ErFr, ffiqrfr qtfu !ere, il6H
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( I ) Beyond C, Real and inverted, Enlarged

C and F, Real and inverted, Diministed

(3) Beyond C, Real and inverted, Enlarged

(4) Between C and 4 Virtual and Erect, Diminished

13. Observe the circuit diagram ar^d select incorrect option given below in answers.

R2

P
cB

D
+ R3

+l

Electric circuit is open

(2) Resistors Rl, R2 and R, are connected in series.

(3) Ammeter'A is connected in series.

(4) Voltmeter V' is connected in parallel.

NT EIE

12. Ofurc the adjacent ray diagram an*relect the correct option ofposition, nature

and size of image.

',---!46eween

['3 "f6l



# t61fq g6qqq sfu3 T crffi? d:rt o

(1) Na (2) Mg

(3) K (4) Ca

15. qrffi dsrer vqfqrqsi $c?ifin R@l lli srsurR nrfl?

(l) K* (l) cl-

(3) Ca2+ (4) K

16. yffi 6M BtFlffiqt 5it ftPnqr 3lnTfrqr 3r+?

(1) NH3 + HCI ...........* NHICI

(2) CuSO4(ad + Fe(.) ....... 

- 
FeSO., + 6u

(3) NarSOr+ BaCl, ---* BaSOr t 2 NaCl

(4) CaCo, c) ---4-* Cao(") + Co: (s)

17. ftrd-d gTs,f-{-6c 6ic{ {€Cr-sr rrr 6.rordr $Frdt?

(l) ft-dr (2 ) cia{r

(3) Tdre (4) fd.cl

18. irq{dl c{d tfr+ svr +-dI. eTTd 3rlrr Ersr rere gzd il{ q{nqtA gtffi ffi
snq orsiz

(l) eitE6 str{s (2) qfekm trqs

t

(3) 6rdtr6 ffire (4) sfil6 frs

NTSMSSAT.SL x sl5 l4 of 64



14. Which of the following Element loses and electron most easily.

(l) Na (2) Mc

-t{" (4) Ca

15. Which of the following species does not have electrons equal to lg

(l) Kt (2) cl-
(3) Ca2+ &

16. Which of the following is a double displacement reaction.

(l) NH3 + HCI __........- NH4CI

(2) CUSO(.O + Felr; .-............* FeSOo + Cu

NqSOo+ BaCl, ...........* BaSOo + 2 NaCl

(4) CaCor,", ---A- Caqo + Co2 
G)

17. The colour of anhydrous copper sulphate is

(l ) Blue White

(3) Pink (4) Green

lE. Ajay has a shug by red ant, it causes itching & furitation. The sting consist of

which of the following acid.

(l) Acetic acid (2) Butyric acid

K
\N

acid

NTSMSSAT-SL x sr5

(3) Carbonic acid

I ts oren



f9. Erd-€t-61 sirrdr ltglrri qlgqrf6 qFrur ir6-rIfi slsir

(1) NarCo, (2) NaCl

(4) CuSOo

20. qrffi 61urflI T6€5-q sgqrqr q!q+d sFIqrF fq-q-dqro qE+?

(l) df€E'c d{ris

(2) iTTfd{ ffis

(3) {riFqq qf€Tis

(4) fdfuTq d{ris

21. yffi 6fqer qrqfl i<e rrq-ffiR-+ ffis qi-<r qfqffrqr dd ild?

(1) siq{ (2) siqhfnuq

(3) snq-{ (4) tr-d

22. Tffi qrqrd-c ffi orsffi *S f++cr?

(l) c3H6 snfu c4Hro

(2) CH3COOH snFrC2H5COOH

(3) C4H8 erFr Ca H4

(4) (CHr2CO orrFr Ca HTCHO

NTS-MS.SAT-SL x sr5 l6 of 64

(3) HrCo,



19. Which of the following compound is alkaline in aqueous medium.

NarCO, (2) NaCl

(3) H2CO3 (4) CuSOo

20. which ofthe following compound conduct electricity in aqueous solution which

is a covalent compound.

(l) Calcium Chloride

Hydrogen Chloride

(3) Magnesium Oxide

(4) Lithium Fluoride

21. Which of the following metal does not react with dilute HCl.

Copper '{- (2) Aluminium

(3) Iron (4) Zinc

22. Select a pair ofhomologous from the following.

(1) CrHu and CoH,, (d L-
COOH and CTHTCOOH

(3) CoH, and C, Ho

(4) (CHr)rCO and Ca H?CHO

l- t? of 64]NT$MS.SAT.SL x s15



dqer rtTna IUPAC T(tr+tsn Propl-ene qIT+-{"r *fu?

(l) cH3-cH2-CH3

(2) CH3 - CH: CH2

(3) CH3-CH:CH-CH3

(4) CHr-C=CH

24. ffiq 6e ffix qld-dS-+1 qtlter qzETqrW 6qR 6rdm?

(l) Fe+C+Cr+Ni

(3) Fe+Cu+AI+C

(4) Fe+Zn+C+Ni

6iqar 1orqri fuc t or<qfi 3rsi?

( 1) 3{u[6Cr6 7 3T{rorT{ Tlrtrdl

(2) qsf6qr6, 3 qqqRl rlmtrdl

(3) i[ulfiqis, 12 sRrqT{r Ti-(q

26. e{6td *ufl-A €Tcrq{d Grffi ffi?
(l) cn H2n (2) Cn H2n + r

(3) Cn H2na2 (4) CD H2o_r

NTS.MS.SAI-SL x st5 l8 of 64

(2) Ni+C+Cr+Al

.,-:.r.';

-t

t1:;,

(4) !ffs[.6''qr6 19 srwrRr T3-FI



23. According to IUPAC rule, which of the following compound is prop _ I _ ene.

(l) cH3-CH2-CH3

^-lzf 
cur-ctl=cu,

(3) CHr-CH=CH-CH3<

(4) CHr-C=CH

24. Stainless steel alloy is a mixture of.

) Fe+C+Cr+Ni

(2) Ni+C+Cr+Al

(3) Fe+Cu+AI+C

(4) Fe+Zn+C+Ni

25. Which of the following elements will form an acidic oxide.

element with atomic number 7

(2) An element with atomic number 3

(3) An element with atomic number 12 ')-t'\t
C

(4) Ar element with atomic number 19

26. Which ofthe general formulae represents the alkyl group.

(l) cn Hzr CoH2n*t

(3) Cr H2n+2 ) Co Hzn-r

NTSMS.SAT.SL x s15 19 of64



27. lrFM *ffi GFTurRr 6ttT qrd sIIfu crsfr 3lrd.

(1) Efrf,rq

(2) qde-6T{r

(3) rr{fiqt

(4) E,rdi srq qfNr{s

28. ,rarr 1 qgulRr {rE *dgr

(l) {qi{rq (2) dsr{rq

(3) qt{ (4) gs'l

29. tqFrqftld qffif,r ffi g$-q.€ qqt(l ffi?

(l) 50 (2) 60

(3) 70 (4) 40

30. NrO a rn-+p er{ qqta{ord ffi sqir{d rr6-di?

(1) 100 (2) rr4

(3) 104 (4) 10e

31. qrqrqtA r*o qrrqr M r.lRr f+n-{JI

(l) cf (2) d-{

I

+drqr+.

(3) d-{ (4) qR

$SAT.SL x s15 20 of 64



27. Raw material required for photos,,nthesis is and water.

(1) Chloroplast

(2) Sunlight

(3) Nitrogen

28. Find the odd man.

(1) Utenrs (2) Ovary

(3) Vagina

29. The prcscribed limit of sound in decibles in silent zone during daytime is.

(2) 60

(3) 70 (4) 40

30. A green house gas N2O remains for how many years in the atmosphere?

(

100 (2) 1r4

(3) 104 (4) 109

31. In human being blood goes through the heart times during each cycle.

( 1) one (2) three

(l)

lTiffi;i5r-TrT sr-l

(4) four

F' "iAl

\-destis

Jea



32. s{ sfrqrql nfuI efdsqrdr

1t; q{ff rm<n

(2) r6,Rlr{{ff u6sta

tfl ccrf{d (Icst€

(4) qcgrfsd ntilsI€

33. 'rera c esqm vq *;rgt

(l) ii*q-cr

(3) ofcorq-l

34. qRqrd qt-q UI{Irqt
(t) 22

(3) 46

Estinit

121 5r$l-l

(4) T-Erdrc-{

qtsqt srmf,ra.

(2) 23

(4) 44

35. ql*6 e\ sr sflrfor raq'q'c*f, qe+iq *sq w*.

(t) (i) - (c),

(2) (i)-(b),

(3) (i)-o),
(c) (D - (a),

(ii) - (a)

(ii) - (c)

(ii) - (a)

(ii) - (c)

(iii) - (b)

(iii) - (a)

(iii) - (c)

(iii) - (b)

rdc 'oj' Rrl q

(D srHr (a) ff<a aeTsni dr.qur

(iD #- (b) qr-jfrTrdr

(iiD +ed (c) ffii+ tr{s

NTS.M95AT.SL x sl5 22 of 64



32. Response to stimulus of touch is called

lc movement

(2) Photo-kopic movement

(3) Hydro-tropic movement

tic movement

33. Find the odd man.

( I ) Fragmentation Regeneration

(4) Budding in Hydra

34. The total no. of pairs of chromosomes in human beings are . . . . .

(1) 22

(3) 46 (4) 44

35. Match the column

(2) (i) - (b),

(3) (i) - (b),

(a) (D-(a),

(iD - (c)

(ii) - (a)

(ii) - (c)

(iii) - (a)

(iii) - (c)

(iii)-o)

Column A Column B

(D Da1wrn 1 )L)
herirability of acquired characteristics

(iD Lamarck -'(b) ffieritance

(iiD Mendel }s" natural selection

NT$.MS-SAT.SL x sl5 23of&

(3) Budding in Yeast

(d, {O -(aI (iii) -(!)

.x{"



36. qffi 6ffi T{ed rfrsrq-a fuqFn-d'd q-{wfr rr4.

(l) g.dftr* (2) sr+rtrn{Rr

(3) 6m

37. d{s-frqd-m s-d-+ esqrfi-o zmrs q-qgJ urs gai

( I ) crqrirs (2) ftrFEs

(3) ,sTrs (4) {Iq-{r€s

38. qmd ffi fqfqq st qTan eTdtd Ed & +m?

(l) A (2) B

(3) c (4) D

39. qr+* d vt6a1 qtriqri-e :fsmq e qh6 w{t

(l) t€thir (2) sctm{

1+1 ur*iwtr

A

(3) ffiflr

NT$MS-SA'LSL x sl5 24 of 64
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36. Which plant does not belong ro group Thallophyta

( I ) Ulothrix (2) Spiroglra

(3) Chara

37. The excretory product in crystalline form of the plants....................... causes

itching.

Raphyids

(4) Cyanide

38. From different areas of the brain which is vision area?

D

(1) A( )B

(3) c (4) D

39. In female reproductive system ovaries secrete ....... harmone

(1) testesteron

(4) thyroxine

NTS.MS.SAT.SL x sl5 25 of 64

\9'Dfnana

( I ) Phyroid

(3) Craphyid

n--.-ffitrogen

(3) auxin



40. trrdr q.*' +dor.

(l) afttcq (2)Efficq

(3) fir#dr (4) Rfffiql

41. qrd-d E {rqr *rdqml qs+dr +.q qqfq f{egr

(D qtn-+i qddfrs-tq SqtI SsTrd

(ii) ffiqqri ff*sq:r T{q dfrc'*-d

(iii) efeqrqr Sq{rq r.Ffrs ste{iE qr* Efli.

(iv) gdi, E cc-r'r;s qtqr slqi glun vm ta-el

(r) (iD, (iii), (0, (iv) (2) (iii), (ii), (iv), (i)

(3) (iv), (i), (iii), (ii) (4) (i), (iv), (iii), (ii)

12. vn-a ttl=t RFI orgqrd 5ar*n ffi nqwa

(l) f{frdr 6T+€

(2) snci" Efd{

(3) Efi

(4) rilEt+€

43. ffi s{iR"arftd qffi qsr6d

(l) +fr+s (2) €ffif{qi

(3) etqf-+

NTS.M$SAT-SL x sl5 @g
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40. nind the odd man

Adiantum (2) Equisetum

Selaginella (4) Riccia

41. Select the correct chronological order from the given.

(i) America declared war against Germany

(ii) Austria declared war against Serbia ..-

(iii) Assassination ofAustrian Prince Francis Ferdinand

(iv) Italy entered into war from England and Frances side

(iii), (ii), (iv), (i)

(3) (iv), (i), (iii), (ii) (a) (i), (iv), (iii), (ii)

42, Who took lead and sacrificed the cold war?

(l) Nikita Ikuchev

(2) Eisenhower

(3) Truman

(1) Mary land (2) Virginia

(3) New york (4) New Jersey

x sr5NTS.M$SAT.SL 2'1 of 64

, W<til,(iii), (i), (iv)

-.({Gorbochev

43. First colony established by England in America is 

-.



44. erar<t$q qrqnrfr qdqa gclq +iurilqr d.Era gt ald?

( I ) or+R6r (2) enfiFs'r

(3) Ctlc (4) sflRrqr

45. rnfrrrqr T6r#d Sffi t5q< ere-der *.q {qiq fmer.

(1) ffir +r {r-qnr trad

(z) e{tqr qrqnrer qre tard.

(3) qtrqd ffi{ tid vsRr* q.qm.ft frard.

(4) c6tq qqptlt s61 {d q-d fld.

46. sr+rq <|Sar ertn. qqk Bn-+.sL

(l) ![IqsqT - g+q q.rfsrqr{{ i.gts ffi.
(2) gwr sFffi - r-qr swri*n riqndr qrqdr td.

(3) snfttd' q qrqrfufi cfts( - qri* Eq-6 s {dTd Er# qlqpl 6d.

(4) sFc-crfl - qiil{{rqs qrq-<qrqr sr?i arEd.

47. €rffi qrqFrsKr=fi E€ cftunq 3Ts-+dT +"q Bi({l!T Tqtc +fr,qr.

(1) M* qqTlfar ce yrd

(2) frfr{ersT <r{r grf,r.

(3) Td+E-d-srq r-fl grdr.

(4) qmqdd Ie qrcc*n +*.

NTS-MS-SAT.SL @Tfsrs-l



44, In which continent did the first international trade revolution take place?

(1) America (2) Africa

(3) Europe (4) Asia

45. Which one of the following options is applicable to the T.,lanking Treaty,?

(1) Won the Hong Kong Island

(4) A group of six ports was opened for the foreiga traders.

46. Identifo the incorrect pair ofthe following.

(1) Assembly - To observe the administration of UNO

(2) Security Council - Permission to new membership

(3) Economic and social committee - To protect human rights and

funCamental rights

47. Find the correct option ofthe constructive efect of imperalism.

(l) Destruction of village autonomy

(2) Decline of values

Rise ofnew leadership

(4) Suppression of under depended nations.

NTS.MS.SAT.SL x s15 29ofU

y-,6Thea,asiness of opium was granted

(3) Christion missionaries got permission to spread their religion in China.

Secretariat To interpret intemational law.



48. o''{e< qrq-er{ iF{rfl dfirqr 6iqet li<vltm Hq +dr?

(1) {qt&fir qfird-i qr.q.

(2) qMrfr s<trq q qlcn qrqcr.

(3) 6rcqRr{r ffi qqr *4
(4) Yns{rd {rfi4 qqH ryd.

(l) t{a. (2) $t{.
(3) qrf{qr (4) fr<ily(

durflr s{-{d {v# qqei e-c*s Estr srsrdr

(l) rz-*i EFrdftlm{ d;dd eqrm'qq.

(2) fr.mcsT iffigqr+0-6 651

(3 ) qcm{ TtfrcrE{ +;ii :Hrsi!-

51. 'q{dr qsr' i rqm *or.

(l) tililr qtqq

(3) T{cd ffi
(4) qcrc +i

NTSM$SAT-SL x sl5 30 of 64

49, €rffi 6tqer ftmrufr eiifirc.FR {cilT{ grd Tdd.

(4) +qffi rrd-i err,qul

(2) +qrdq:m

I



4E. Which policy of Linen was opposed by the extremist communist leaders?

(r) land to landless farmers

Allow private industry business to a limited extend

(3) To provide workers with basic needs instead ofwages

(4) Domination of the working class in the govemment

49. In which of following place parallel government was not established ?

(l) Meerut (2) Pomia

(3) Baliya

50. Out of following which issue was solved peacefully by the United Nations?

(l) The attack of Italy on Ethiopia

(2) Hitleds attack on Austria

(3) Japan's attack on Manchuria

51. 'People's Party' was established

(2) Kamal Pasha

Tojo

(4) Emperor Genro

x sl5NTS.MS.SAT-SL E@

(4) Midnapur

Italy's attack on Kaifu Island

(1) Sultan Majid



52. 5-ffi *iurdl {qq+'rqr'!rss ffiq'nd?
(1) f{-+g (2) qrss

(3) Cf{J{ (4) d{{

53. fdrq d +S f{Fffi rrd'? +iqrqT vh{ge s.nqr fwf{rq 3rrd?

(1) n.r (2) Et€f'e

(3) 6M{-6.q (4) {idffi

54. $crd +dT-{q-{dr 3fi-qa 6qr qisrdr?

(l) trstmq

(3) i{sq

(2) qsc qfq

(4) t{

55. qrfiF+tr€ gtqFFrtrrqr s+d qrfrrql qqd-d 6M nY dn?

(1) qrqds

(3) q({

(2) r<m

(4) E{M

56. rqrd-d emf*qria rd-q Br+q fd6rq Elsret sTsnri <Yfffi eTt?

D

Sr{I fflI

(1) A

(3) c

(2) B

(4) D
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52. Which one of the following is not an'Input Devices'of a computer?

(1) Key Board

(3) Monitor

(2) Mouse

Scanner

53. The discovery of the fact that'the universe is not a divine creation'was made

to the world

(1) Newton

(3) Copemicus

(2) Holdmant

(4) Galileo

54. Which king motivated the navigstors in Europe?

(l) Nicholas (2) Pancham George

55. Which Asian country was involved in Africa's imperialistic policy?

(1) Thailand (2) Iraq

(3) Amb (4) Iran

56. In the given diagram which alphabet indicates the rain shadow area.

D

Wide distance

(l) A

B

(3) c

(2) B

s15xNTSMS.SAT-SL @
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57 a qd{ qaqRl 16<l rfld sri?

(1) s's

(3) ++l

(2) 6rf,s

(4)t{frq

58. €rdtd slrf-fr qndrd-d siutil rTFdq, f{qFI <ff{i?

1:; ratr*e c-+frc cfu (4) {+*<tu fr{rfr st{r

( 1) crs (2) qrd

(4) qa

60. qrdrd-d s-ch +dr smko frqrvrtq oiuro?

(t) sim qrrfrq ffi ciyr

(2) qrffiq rdrt et{r

(3) 3-di6-+€ 'r+frq ckr

A
t

(4) srz snq ffi ffi ytn s tl
NTs.MSSAT.SL x sl5 EEE

(l) qlftfiffid lrdrt ckr (2) cffid ffi ei{r

59. {qrf TAqi? TtrcFi'ffi'Sq{ ffi {qiql rrqqnqm +sdr

(3) s6r



57. is a weight loosing raw material.

(1) Sugar cane Cotton

(3) Wool (4) Silk

58. Which physical division is shown?

(l) Southem plateau region (2) Westem plain region

Northem mountainous region (4) Eastem coastal plain

59. How many state capitals are connected by the Golden Quadrilateral other than

Delhi?

(1) Five (2) Seven

(3) six (4) Eisht

60. Areawise which is the largest division of India?

(l) Norft Indian plain region

Indian plateau region

(3) Northem mountainous region

^lt

(4) Ghat coastal plain region and island
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61. 3nfrHr ffid s-cln +J 5-{aafearol

(1) f6qR

(2) 3l-crdr

(3) qft-qlir

(4) 3TTffi{

62. +{dqr rorvnqd rilqr-{frsl tflIq rt$ qlqer es<t i E{tfufl 3nez

t

B

A

N

+

(l) A (2) B

(3) c (4) D

63. riiq ffi yknr r<qr Erffi 6M rIGc rqn q'tc r*r?

(l) rrrrqtd {dq (2) rr-d5fr s{te1

(:) tqfit-o qrq (4) 'V' 3rrm{rm (fr

NT$MS-SAT-SL x sr5 @



61. Asia's Agricultural University is at

Hissar

(2) Ambala

(3) Ludhiana

(4) Amritsar

62. In the given map which alphabet represents the Godavari delta?

(1) A (2) B

(4) D

63. Which of the following feature is not formed by the rivers of Ganga Plain?

( l) Meanders (2) Ox-bow lakes

C
N

+B

A

C

(4) 'V' shaped valley

NTS-MS-SAT-SL x s15 3'1 of 64
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64. Erffi <qr qdRli oiurdt sqfrqFl rr8?

(t) €rdgsr- qtriq +s-d rnr

(2) cERrq c-dR

(3) r{rdqr rdR

(4) 6rfT6' I-dR

65. t+tcr t-6dEq or{d-dr qqiq si-6or

(l) A (2) B

(3) c (4) D

(l) qre-* var<

(2) da rFrg( TdR

(3) fqre r+drtq

tr6Frrqr !-if,IT sr!n-€6 rt€ toilsrto/o

e-cr$ qr6+
58 I 7 I

B qqsrF{*' qr6i
t4 3.8

c fti q61 sr6+
14 3.8

D Sqd ata+
274 76.1

NTSMS-SAT-SL x st5 rE

66. srffi qisrdr qq{rtq r< $ c{tn+ ,*vfrqFr rrd.



( l) Satpura-Mahadeo-Maikal ranges

(2) Maharashtra plateau

Malwa plateau

(4) Kamataka plateau

65. Which of the following has wrong correlation.

(l) A

(3) c (4) D

66. Which of the following is not the subdivision of Central Highlands?

(l) Malwa plateau

(2) Chota nagpur plateau

(3) The Vindhya ranges

Ilpe ofYehicle Degree Percentage

A Public Ttansport 1 7 1

B Professional vehicle t4 3.8

C Three wheelers l4 3.8

274 76.1

Dandakaranva

x s15NT$MS.SAT-SL 39 of 64

64. Which of the following is not the sub division of Deccan Plateau

(2) B

58

D Two wheelers



67. t'c +6 srtdol

(l) Edtdda q4fr4 ct{r

1zy v.c+un *<n

(3) <qri q-an

(4) {qrc Efrqrur +fi

td{R

6lfi qSl

foq g.qc

68. f6t$ +it eit'+.€I.

@
(l) 6-rte6 6e&

(2) +{d Et{dq

(3) tlERrq T6FN

(4) ri-cl q'tmdl

69. $ srf+{ furra qffir$ satrd d'q o'q fua.

(1) frqfrrt. qtfFrt, qwcrdr, clil6tsr

(2) rtilstsr, TcEqril, qtrFrt, tTqFTt

(3) rwclar, qc6tsl, qiEFTt, frdFro

(4) f{cFrt, qffiTt, qe-+tsr, T6cr€t

70. Ttqr qtq M yi{fl( 6trdr ffi M €rsql drrR *-qr qrnrd.

(1) rilt€s{ (2) eqtuS{

+qr

IFI

(3) tusts( (4) qrrrdg{

Ff'm/iSSAESr-TxfTiil I 40 "i'Al



67. F the correct pair.

(l) North Mountainous region Chinar

(2) Rajasthan Plain Dhak

Khipbush

(4) Punjab Haryana plain Sandlwood

68. Find the incorrect pair.

State Coastal area

Karnataka

(2) Kerala

(3) Maharashtra

( I ) Nimgiri, Mahendragiri, Nallamala, Palkonda

(2) Palkonda, Nallamala, Mahendragiri, Nimgiri

(3) Nallamala, Palkonda, Mahendragiri, Nimgiri

(4) Nimgiri, Mahendragiri, Pulkonda, Nallamala

(1) Gorakhpur

(3) Mirzapur

(2) Samastipur

NT$.MS-SAT-SL x sl5 4l of 64

(3) Deccan Plateau

Kalangut

Kovalam

Guhagar

Kolwat{*
69. Proper sequence of peaks in the eastem ghats from South to North.

70. In the middle ganga plain silk sarees are manufactured at _.



71. ydRr6 {r6Rer qM q ffi qFrfiR ersrad t a{fuuqrql 3rFr+.R 6}qrq qrd?

(l) sTct{s-d

(2) qrqtrs€

(3) 6rt6rt risd

(4) trqqn

72. *,ftRrq sifl rssa qrd **p1ipllqaffi.

(1) qcrq-qr{ qqr

(2) T€qr f{s.rs s{qrd

(3) Tgs{ qcrq csr

(4) qlftq-{6w{ T6Ris

73. durilqr t{ncd t?i-d prrt{fi rrfiqitq{r qrftq efifus rFrn$ri mri qiq ofr eni?

(1)ffi

(2) SFziF{qr

(3)iffi

(4) fu-fti-s

NTS-MS.SA'LSL x sr5 gwt



71. Who creates government and decides the powers of the regional level

govemments?

(1) Legislature

(2) Judiciary

s)(f Executive

(4) Constitution

72. Kanshi Ram is 1984 founder party.

(1) Samajwadi Party

(2) Bahujan Mkas Party

Bahujan Samaj Party

(4) Bharip Bahujan Maha Sangh

73. In which country's electoral system does the vote ofan indigenous person have

more than that ofan Indian person?

Fui

(2) Estonia

(4) Finland

x st5NTS-MS-SAT-SL 43 of 64

(3) Mexico



74. qts qqrqd-q-fi erw 6qlcq srqlfqq qrffiql vq6{61 qp6 qc+Ti o}sm m+(t

{c-d +f,r?

(1) fqqid-cr elfti-6R

(2) 6,rcrqr qFrs.R

(3) crfffi-qr srFrdT{

(4) cr{q srltrfiR

75. qtffi rnRq'i$ qr?rfuo TqF6"q T.fr qiorfi?

(1) EHn {sfcd s.{q

(z) rc<n +d

(3) {rrfl scfefi r6rd

(4) {n${rs{ f-sr 6{d

76. Eidle++1 qrFF irfr'R fiqREr dqti qqtftq nqqrl qaq 6isrdr?

(l) nrgs.r q-q

(2) ts€r Eq

(3) rw wrftr

(4) {qq sn+T

NTS-MS.SAISL x sl5 @



74. Due to the efforts ofEminent Social activists Anna Hazare, which right has been

passed by the Indian Govemrnent?

(l) Right to Relaxation

(2) Labour Rights

(3) Right to Information

(4) Human Rights

75. Which one of the following is the first political work of the citizen?

(l) to bring about people togethar

to caste a vote

(3) to be present at meeting conducted

(4) to comment on the goverffnent

of the following is not part ofthe consumer's Redressal Agencies'?

The taluka Forum

(2) The district Forum

(3) The State Commission

(4) The National Commission
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g

7?. qr*qr*q flald dqns w+< di€?

(l) q-{6i

(2) frcn sca fqrqsrrql qd

(3) {qqrlicti 5rr+gum anun< a-d

7S. qr+qr&qr ffiiun-ql d|rr .rqrq..

(l) srffTfi qqla qa

(2) fu frln-q lnrsnd sE

(3) 6{ T(tfi

(4) ffii er<qr*o

79. EttilE+qi qpaffi s-gpqwfi rPq 6ffi?

(1) +cRTn<i (2) srRiq

(3) qql (4) sF+{{

80. qqtla fufqri'd g{iqn fqtln sr}dqr.

(l) srmq qN? qlqqtqr ffiq"i em *at wc cr6.

(2) wceu qFIr srqfi-{{ nM qdd.

111 ertrsrd-<r 1li em o,o<rvr& ffiet ${fr Tst

(4) t{rd-d ffii eilsd sr+.rcn q{i{+.

Ir

\
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(4) *q61
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77. Wlro will be benefited during hflation?

( I ) Debtors

(2) A person with steady Income

(4) Creditors

7t. Monetary measures to confol inflation is

(l) Reduction in Public expenditure

(2) Increase in cash reserve ratio

Increase in taxes

(4) Surplus budget

79. Which of the following is extremely necessary for men?

(l) Car , ffieahh
(3) Fan ( ) Fumihre

80. Identifu the statement which relates to'optimum population'?

(l) Available resources are not used enough

(2) Creates stress on available resources

(3) Population is not enough to consume resources completely

ideal size ofpopulation ofa country.

NTS.M$SAT.SL x sl5 E@
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tl. ro t 3oo qr <<rztt;ra[ ffi {si{r + i qrrgtq( qld 3 s{A?

(l) 7r (2) 72

(3) 73 (4) 74

82. ,, +z.fzx-a=6q1 qrftsffi{-n ffi?
(t) 4Jr.J' Q) tJl.-z"E

(3) 1,2 g) 1,2J'

83. wr SEqIcd fqfqq qtrc( s{ ffi tmq TfrrM <dffi qd' q{ q{qsqrfr

T6q lo0o0 6 !f,+q ({ frrsrqE( Ed ffi rmq ffit

(l) (20,000

(3) 172,000

(2) r32,000

(4) 130,000

160"

100.

frNq50'
q{qrg

I{TSM$SAT-SL 48 of 64
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b81. How many numbers between l0 to 300. When divided by 4, leave remainder 3

7t I s AA'
6

2-

,,
q

0 /ao , I>tou ' I

15 .l -
,, i),f2,

a tdg
L1

82. Which of the

4J',J'
(3) 3,2

E3. The expendi

(3) 73

loo "
cbtr
\go

(1) (20,

(3) <72,

t\ 4Dr

-6=0

q

(2) tfz.-zJi

(4) 3,2J,

(2) t32,000

(4) (30,000

equation

x

,i\'iif h:il
S*',}o-,:dz
is shown in the diljlftntture incurred on different items in a family

pie diagram. Ifthe arnount ofhouse rent is { 10,000 then find the amount incurred

o,oo0

{

"\o,lpt', w

%y
\-(,a

c-

3e
I

3L

X

')ACc
xlb

P1

9

-ft ?

. ro
I 3o

"l_ + ,tlzr-.
q (',r, + %t')

t \0O'
L60

%'f,) =
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160.
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t4. co' nA 6rfr lrfi qtsqtr +ni m trd !R qrf{ ft enfi ts fofr. qca qaF€I

qc-dr +{ erd{ qR 6{rqmr& qrfiat z <rs e,6 Hlrrd qsi. qr qr&sr ft acfr s

ffi 1** *-qr m ts sril( qR q,ltqrtr&'n*or t ars qr€ ollrfl qrar ei tn*i

6rcd-d siil{ ffi?

(l) l20ffi

(2) 240ffi

(3) 360ffi

(4) 400ffi

ss. (vr*vz)(s*{a-{6)= r+'*z

(l) 5

(2) li
(3) S

(4) tE

NTSMS.SA'I\SL x sl5 50 of 64
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1F7 -.i.
E4. A train travels some distance at a constant speed. Ifthe speed ofthe train would

huu""iFJ.""""d by t sknr/hr, then it woud t 
"u"."qliit"a 

z hours less. But if the

,p""'8Etth" t 
"in 

*ould have decreaJ&by 5km then tL cover the same distance

it would have required t hour more. Find the distance covered by the train.

a@ s. d,(l) l20km /

(3) 360 km

(4) 400 km

85. (.,6..tr)(...6. Jr -..6) = r

(2) !,

t
> C: LL .

,,a(q')
?N'

Y(2) 240km d,{ '
@@

lc)t-
ilY\
k

{{.'<\
&)
f +r,X

E\
r0

- 0

a\'
\\

ti6o {i )t
oNf

o 1fi6)r"

rLl

"y
{ 7

oq1

(3) {6

(4) i6

c*) ('
x,
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86. qor iqtlq' @e rz tofers ffi rr€4r f(qr Xqr6R qsa dqt:loo qa tti
tn fr {q +ffi? :ilq

(l) 20 (2) 16

(3) t2 (4) 8

I

87. r t so ql vqr ffiSqr crcfuql qI Sfq+' qrfri w qrd qrad cr ere( ffiffi
(e[ TE Ift'II srqu.rFir li-iiiEm FFfi,

(r) *
@I

(r) I
2

(4) ls

88. qr.f +2* - ax -l2st c-€s{-cil (r - a) i qrrd stsm qr+1 52 rrA m a { ft'q(

ffi2
ll(t); (2)-5

(3) 8 (4) -8

I

NTSMS.SAT.SL x s15 52 of 64

i6-AI ISiFI



86. The number obtained by adding 12 to a natural number is 160 times of the

multiplicative inverse ofthat natural number. F

(l) 20

\t
\6q,/,.p (1 (2) t6

lnd the nurnber.rrg ,\0
s* r.P

^o&'$L+-l vP-i
1,"+*P. - b '
A. 'N1 to 50. One card is drawn at

Q) t2 .Lt \bo
\r{'

8

rl
87. There are 50 cards marked with the numbers

random. What is the probability that number on the card is a prime number?

4
(2

J

)

)(

m
I
)

1
4

l5

trv a

2
(4)

88. If the polynomial f + 2* - ox -12 is divided by (.r - 4) the remainder is 52.

ll(r), (2) -s

(4) -8
\uo
go

53 ofg

t)

)-

6qtgt-qM-12'52-
q6-12'4d,= 52

84-qK = 5L
\L , 4x

L
s

)_ 0

\

1%

x sl5NTS.MS.SAT-SL

Find the value of 'q,'.
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39. Qi qrsrqrf{o, q++-<qi* Br6-d dqd sdi 6rfd e{sdr jr * ffi46 gffi e,rtfu D

If:4;Dx= erte r< m * frq_d ffi?

(2) 4

(3) -e (4) e

90. qq, vffie fr$n+n r+d{q ffiFrs qqttctrr #@r ffiS {@r q @
{qr ffi sni euw Etrtcq ar+flr q@f qgo-+ teffi?

rM* q@r 0 l0 10 20 20 30 30-40 40-s0 50 60

f+{qd dqr 30 42 50 80 50 40

(l) 80 (2) s0

(3) 45 (4) 3s

91.
Cos'?30o + Cos3oo Sin30'+ sin?30'

cosl3o" - sin!30' ffi?

(l) 1

(3) .6-r

x!

(2) Jl,t

I

Jr- r
(4)

a
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(l) -4
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89. When two simultaneous equations are solved by Cramer's Rule.

17 ml

I, 'l
We get x = 9 and D:4; If or= then find the value of m.

(l) -4
- -//

(3) -e _.5*'
K'\0

4

9oa
4"".4

L\
19

90. Following table gives the number of in a school

on'Environment Day, Observe the table and find mode of the trees planted by

the students.

Number of plants 0- l0 l0-20 20 -30 30-40 40-50 50-60

Number of students 30 42 50 80 50 40

(1) 80 (2) s0
[]

(3) 45

Bo
a

9l Cos'13o" + Cos30' Sin3O" + sir'13Oo

cos33o' - sin33o'
6

(l) I JJ+t

(4)9 6'o .,n

,"". oT,*Jk",Joo*,

5

,|

go

(4)
IE \<o

z
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t-J z
\\6

co -b\G,
,l</ r)

E
L

@
q.

2-

)"1
J, 

-[

O X\O

,6,&
I
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(l) 0

(3) -Ji

(2) |

@) J'

93. tr PQ ll t{ AB,sI qq 1 
"*. 

* tar nq <ry um<& r qrt tn, nioa6q fiifr?
2

(1) 3 (2) -2

(3) -6 (4) 6

94, .6 +fr. fmr qqunqr rfflqr q-tq+ri erqr (tq Yes-6r{fr 3Tsuttt {ufd{ ffi?

t:
il) 11

3

(2) 
1

^t;(3) 'v'

(4) J1
E
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92. Iftan 0 I then find the value of Sec0+Cosec€
Cos0-sin0
1

(2) I

6

0 7

Q) -A (4) J'

93. Line PQ ll lineAB. The slope of lineAB is I .

2

x- intercept

(1) 3 ,\ (2) -2

y-intercept of line PQ is 3. Find

?

a

o-

13

il

(3) -6 {n
.).N

)

J,

t//

.t-
t
2-> A.'

94. Find the ratio of the volume total surface area ofa sphere ofradius .,[ cm.

\ 2 x @t'llxr9'+ 3 L

7

3

4x Y .T

\
2

3

\dL.
\ ^l-

-.Y-1/
(2)

(3)

(4)

tJi
3

Ji
6

,)?

"h
r/-'a t

rnIY-Y'

,tt1t- ,r1-

I
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95. rngan 0.4 fr. B-S ?I 6.5 tfr. qnt gr{r+en gdffiqrW 2.2 t4 qTe q 0.2 ifr'
qrffi ffi 1ufr 6qrr q',ra t-#e?

(l) 180

(2) 600

(3) 1200

(4) 1800

95. qt{ilql or?-d-d pMl-QSq RNI-QS6d QsqPRi'o'fqr i(drdA(APMO):A

(a RNO) = l :4 au (A PQS) : A (A RQS) = ffi?

I
(2) 

8

I
(3) 

o

S

I
(4),

NT$M$SAT-SL x sl5 58 of64
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95. The diapeter of the base of a cylindrical metal block is 6.6 cm and its height is

0.4m, How many discs of diameter 2.2 cm aod height 0.2 cm can be cut from

this metal block ? t-L , Z' 2

180
Q, = o'Qvo

J&.L(2) 600

(3) 1200

(4) 1800
,5

96. In the adjacent figure PM l-QS. R NI QS.

'O'A(APMO): A(A RNO): l:4 then find.

A(APQS):A(aRQS)

\\ ,%/. 6Qfr
5

z4 4,-fr1x 2(
'7 )bf

Diagonals QS and PR intersect at

h f q
qu'o n

I
(r) G

(r) ; & S

t I r-lo

ir4

I
2

)

0

(4

1;>v,b\
\\x

t

5)

txv
X

tlx oI

t)

x sr5NTSMS-SAT-SL 59 of 64
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97. qfi ffiffi s-ctil +S cF[20 t{. e g<t <rq lo +ff. €rqr eI frnii4ri qtdso

ao qt+fr. qr* m er ffi Erd-dqr srqS dr{ ffi? , .tt-.

1r; z.,Gs

1z; sJlo

(3) roJJ

(4) 15

9t. 'O'*-( a-f+ro AB = BC m IAOD: xq nZACB :y tR ffi?x

v

1(r),

(2) 2

(3) 4

(4) 1
4

D C
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97. The lpgest side of a triangle is 20 cm. and other side is 10 cm. The area of the

triangle is 80 cm2. Find the ofthe remaining side ofthe

(1) 2JB y)1'

(3) roJj .rt?

(4) ls

98. In the adjoining figure 'O' is the center of the circle AB : BC mZAOD = x and

nIACB: v then find a .'v

(2) s"/io
L9
{

0
&

I
(1) 

'

(3) 4

s)I \60 - t*T

I
C

2

CD

rto.1

\ro- .d *\ = *
+

?o
\@

1t

NTS.MSSAT-SL x st5 @
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U

C.t\ '.

h
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-\

9. +{f,qr orgd-c wAB= 16qfqcp,14od{ A(AOCD):A(AS$):ffi?
5oT

2
(2) 

s

25
(3) ?

).

)f

/i1

4(4)E

f 00. +{rqr orr{-d-d tr ABCD e ! PBCQ ver(Iqv orql BC : 12 +fr. a PR : 8

tfi. nr APSB i qi_ds_f, ffi?
D

(l) e6+t6

(3) 48 ++fr

C

(2) 72 ++fr

(4) 36 ++m

R

***

I

NT$M$.SAT-SL x sl5 62 of &1
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99. In the adjoining figurc ifAB = 16 and CD = 40 then fnd the ratio ofA (AOCD)

:A
c

(

2

2

7

(2) 
s

4
(4)

25

l&.In the adjoining figurc

PR= 8 cm. Find A (APSB).

*<
and trPBCQ are panllelogram BC : 12 cm

D

\b
/. \,/zN

L\r
t_ | Zow->

4s(l) 95 cm2

48 cm2

(2) 72 a*
(4) 36 cm2

*,1 ,l

NT9M$SAT-SL x 64
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